	NAME: S. 228th Street Improvements ING: May 10, 2011	BIDDER'S NAME ANI ADDRESS)	MidMountain Contr PO Box 2909 Kirkland, WA 9808		Scarsella Bros., Inc PO Box 68697 Seattle, WA 98168		Ceccanti, Inc. 4116 Brookdale Rd. Tacoma, WA 98446	Ε.	Rodarte Construction PO Box 1875 Auburn, WA 98071	•
		TOTAL			\$5,255,489.73		\$5,349,088.36		\$5,406,122.31		\$5,520,143.94
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
HEDUL	E I A - STREET										
1000A	Mobilization	1	LS	\$380,000.00	\$380,000.00	\$525,000.00	\$525,000.00	\$490,000.00	\$490,000.00	\$205,000.00	\$205,000.00
1005A	Clearing and Grubbing	1	LS	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	\$25,000.00	\$25,000.00	\$3,500.00	\$3,500.00
1007A	Remove and Dispose of Trees and Stumps for Trees 8 Inch Diameter and Above	3	EA	\$350.00	\$1,050.00	\$200.00	\$600.00	\$500.00	\$1,500.00	\$2,000.00	\$6,000.00
010A*	Remove Existing Asphalt Concrete Pavement	7,500	SY	\$3.00	\$22,500.00	\$2.25	\$16,875.00	\$10.00	\$75,000.00	\$4.50	\$33,750.00
1015A	Remove Existing Asphalt Concrete Pavement	140	SY	\$9.00	\$1,260.00	\$12.00	\$1,680.00	\$10.00	\$1,400.00	\$12.00	\$1,680.00
1013A	Remove Cement Concrete Sidewalk and Driveway	225	SY	\$6.00	\$1,350.00	\$8.00	\$1,800.00	\$10.00	\$2,250.00	\$12.00	\$2,700.00
1020A	Remove Cement Concrete Driveway at STA 15+87 LT	20	SY	\$6.00	\$1,330.00	\$12.00	\$240.00	\$10.00	\$200.00	\$12.00	\$2,700.00
1025A	Remove Cement Concrete Curb and Gutter	1,025	LF	\$3.00	\$3,075.00	\$6.00	\$6,150.00	\$3.00	\$3,075.00	\$7.00	\$7,175.00
030A*	Remove Cement Concrete Extruded Curb	50	LF	\$3.00	\$150.00	\$3.00	\$150.00	\$3.00	\$150.00	\$2.50	\$125.00
1035A	Removal of Traffic Islands and/or Traffic Curb	1	LS	\$3,500.00	\$3,500.00	\$3,500.00	\$3,500.00	\$15,000.00	\$15,000.00	\$2,500.00	\$2,500.00
1045A	Removal and Re-Install Traffic Signs	1	LS	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	\$5,500.00	\$5,500.00	\$7,000.00	\$7,000.00
050A*	Saw Cut Existing Asphalt Concrete Pavement	17,600	LF	\$2.35	\$41,360.00	\$1.50	\$26,400.00	\$4.00	\$70,400.00	\$1.75	\$30,800.00
1055A	Saw Cut Existing Cement Concrete Pavement	300	LF	\$7.00	\$2,100.00	\$4.00	\$1,200.00	\$6.00	\$1,800.00	\$4.50	\$1,350.00
1075A	Gravel Borrow Including Haul and Compaction	3,000	TON	\$2.50	\$7,500.00	\$16.10	\$48,300.00	\$12.00	\$36,000.00	\$16.00	\$48,000.00
1080A	Crushed Surfacing Top Course, 5/8 Inch Minus	2,000	TON	\$20.00	\$40,000.00	\$19.25	\$38,500.00	\$22.00	\$44,000.00	\$19.00	\$38,000.00
1085A*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	2,500	TON	\$20.00	\$50,000.00	\$19.25	\$48,125.00	\$22.00	\$55,000.00	\$19.00	\$47,500.00
1090A	HMA Class 3/4", PG 64-22	4,000	TON	\$80.00	\$320,000.00	\$82.00	\$328,000.00	\$85.00	\$340,000.00	\$75.00	\$300,000.00
1070A 1125A*	Cold Plant Mix for Temporary Pavement Patch	1,000	TON	\$8.00	\$8,000.00	\$0.01	\$10.00	\$50.00	\$50,000.00	\$125.00	\$125,000.00
1140A	Cement Concrete Driveways 8 Inch Depth, Reinforced	100	SY	\$55.00	\$5,500.00	\$85.00	\$8,500.00	\$75.00	\$7,500.00	\$90.00	\$9,000.00
1143A	Cement Concrete Driveway, 8 Inch Depth, Reinforced at STA 15+87 LT	20	SY	\$165.00	\$3,300.00	\$85.00	\$1,700.00	\$75.00	\$1,500.00	\$90.00	\$1,800.00
1145A	Cement Concrete Sidewalk	125	SY	\$32.00	\$4,000.00	\$60.00	\$7,500.00	\$40.00	\$5,000.00	\$90.00	\$11,250.00
1205A	Cement Concrete Curb and Gutter	1,100	LF	\$18.00	\$19,800.00	\$22.00	\$24,200.00	\$20.00	\$22,000.00	\$19.00	\$20,900.00
1210A*	Cement Concrete Extruded Curb	50	LF	\$8.00	\$400.00	\$5.75	\$287.50	\$6.00	\$300.00	\$8.00	\$400.00
1245	Adjust Existing Monument, Case and Cover to Finished Grade	2	EA	\$250.00	\$500.00	\$500.00	\$1,000.00	\$350.00	\$700.00	\$225.00	\$450.00
1315A	Pothole Utilities	15	EA	\$500.00	\$7,500.00	\$350.00	\$5,250.00	\$250.00	\$3,750.00	\$225.00	\$3,375.00
1330A	Field Trailer	1	LS	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00
1345A	Watering	1,000	HR	\$23.00	\$23,000.00	\$0.01	\$10.00	\$100.00	\$100,000.00	\$90.00	\$90,000.00
1355A	Minor Changes	1	CALC	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
1360A	Existing Irrigation System Removal, Repair and/or Modification	1	FA	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
1365A	Controlled Density Fill	150	CY	\$100.00	\$15,000.00	\$75.00	\$11,250.00	\$150.00	\$22,500.00	\$80.00	\$12,000.00
	SUB-TOTAL				\$1,023,465.00		\$1,161,727.50		\$1,459,525.00		\$1,074,495.00
	Sales Tax 9.5%				\$97,229.18		\$110,364.11		\$138,654.88		\$102,077.03
	TOTAL SCHEDULE I A				\$1,120,694.18		\$1,272,091.61		\$1,598,179.88		\$1,176,572.03

CITY OF K	KENT			1		2		3		4	
	NAME: S. 228th Street Improvements	BIDDER'S	5	MidMountain Contra	ctors Inc.	Scarsella Bros., Inc		Ceccanti, Inc.		Rodarte Constructio	n, Inc.
BID OPEN	IING: May 10, 2011	NAME AN	D	PO Box 2909		PO Box 68697		4116 Brookdale Rd. E		PO Box 1875	
		ADDRESS	5	Kirkland, WA 98083	3-2909	Seattle, WA 98168	3-0697	Tacoma, WA 98446		Auburn, WA 98071	-1875
		TOTAL			\$5,255,489.73		\$5,349,088.36		\$5,406,122.31		\$5,520,143.94
ITEM					TOTAL		TOTAL		TOTAL		TOTA
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
	E I B - STREET (DWF PARKING LOT AND DRIVEWAY RECONSTRUCT	-									
1010B*	Remove Existing Asphalt Concrete Pavement	400	SY	\$3.00	\$1,200.00	\$2.25	\$900.00	\$10.00	\$4,000.00	\$4.50	\$1,800.00
1030B*	Remove Cement Concrete Extruded Curb	1,000	LF	\$3.00	\$3,000.00	\$3.00	\$3,000.00	\$3.00	\$3,000.00	\$2.50	\$2,500.00
1035B	Remove Existing Concrete Walls, Pad and Chain Link Gate at Trash Enclosure	1	LS	\$1,500.00	\$1,500.00	\$2,600.00	\$2,600.00	\$3,700.00	\$3,700.00	\$1,250.00	\$1,250.00
1050B*	Saw Cut Existing Asphalt Concrete Pavement	300	LF	\$2.35	\$705.00	\$1.50	\$450.00	\$4.00	\$1,200.00	\$1.75	\$525.00
1085B*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	100	TON	\$20.00	\$2,000.00	\$19.25	\$1,925.00	\$22.00	\$2,200.00	\$19.00	\$1,900.00
1095B	HMA Class 1/2", PG 64-22	100	TON	\$100.00	\$10,000.00	\$115.00	\$11,500.00	\$85.00	\$8,500.00	\$100.00	\$10,000.00
1125B*	Cold Plant Mix for Temporary Pavement Patch	20	TON	\$8.00	\$160.00	\$0.01	\$0.20	\$50.00	\$1,000.00	\$125.00	\$2,500.00
1210B*	Cement Concrete Extruded Curb	1,000	LF	\$8.00	\$8,000.00	\$5.75	\$5,750.00	\$6.00	\$6,000.00	\$8.00	\$8,000.0
1365B	Parking Lot Pavement Marking	1	LS	\$1,000.00	\$1,000.00	\$625.00	\$625.00	\$700.00	\$700.00	\$700.00	\$700.00
	SUB-TOTAL				\$27,565.00		\$26,750.20		\$30,300.00		\$29,175.0
	Sales Tax 9.5%				\$2,618.68		\$2,541.27		\$2,878.50		\$2,771.6
	TOTAL SCHEDULE I B				\$30,183.68		\$29,291.47		\$33,178.50		\$31,946.63
SCHEDUL	E II - WATER										
2003	4 Inch Connection to Existing Water Main	2	EA	\$1,800.00	\$3,600.00	\$685.00	\$1,370.00	\$200.00	\$400.00	\$300.00	\$600.0
2004	6 Inch Connection to Existing Water Main	1	EA	\$1,900.00	\$1,900.00	\$925.00	\$925.00	\$250.00	\$250.00	\$300.00	\$300.0
2005	8 Inch Connection to Existing Water Main	9	EA	\$2,800.00	\$25,200.00	\$1,000.00	\$9,000.00	\$300.00	\$2,700.00	\$631.91	\$5,687.1
2010	10 Inch Connection to Existing Water Main	8	EA	\$3,000.00	\$24,000.00	\$1,300.00	\$10,400.00	\$350.00	\$2,800.00	\$750.00	\$6,000.0
2015	12 Inch Connection to Existing Water Main	12	EA	\$3,700.00	\$44,400.00	\$2,000.00	\$24,000.00	\$400.00	\$4,800.00	\$1,000.00	\$12,000.0
2017	16 Inch Connection to Existing 16 Inch Concrete Cylinder Water Main	1	EA	\$7,900.00	\$7,900.00	\$6,500.00	\$6,500.00	\$3,200.00	\$3,200.00	\$11,000.00	\$11,000.0
2018	16 Inch Connection to Existing Water Main	1	EA	\$15,000.00	\$15,000.00	\$4,580.00	\$4,580.00	\$450.00	\$450.00	\$2,500.00	\$2,500.0
2019	4 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	100	LF	\$160.00	\$16,000.00	\$65.50	\$6,550.00	\$40.00	\$4,000.00	\$48.00	\$4,800.0
2020	6 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	275	LF	\$170.00	\$46,750.00	\$42.50	\$11,687.50	\$45.00	\$12,375.00	\$56.00	\$15,400.0
2025	8 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	350	LF	\$75.00	\$26,250.00	\$76.50	\$26,775.00	\$50.00	\$17,500.00	\$85.00	\$29,750.0
2030	10 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water	400	LF	\$120.00	\$48,000.00	\$95.00	\$38,000.00	\$55.00	\$22,000.00	\$90.00	\$36,000.0
2034	Main 12 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	2,900	LF	\$90.00	\$261,000.00	\$78.70	\$228,230.00	\$60.00	\$174,000.00	\$75.00	\$217,500.0
2036	16 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	100	LF	\$200.00	\$20,000.00	\$225.00	\$22,500.00	\$80.00	\$8,000.00	\$200.00	\$20,000.0
2037	10 Inch Diameter Steel Casing Pipe	20	LF	\$85.00	\$1,700.00	\$115.00	\$2,300.00	\$10.00	\$200.00	\$100.00	\$2,000.0
2038	14 Inch Diameter Steel Casing Pipe	50	LF	\$90.00	\$4,500.00	\$138.10	\$6,905.00	\$10.00	\$500.00	\$115.00	\$5,750.0
2039	16 Inch Diameter Steel Casing Pipe	20	LF	\$110.00	\$2,200.00	\$150.00	\$3,000.00	\$90.00	\$1,800.00	\$120.00	\$2,400.0
2041	24 Inch Diameter Steel Casing Pipe	20	LF	\$150.00	\$3,000.00	\$200.00	\$4,000.00	\$120.00	\$2,400.00		\$4,200.0
2044	6 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$800.00	\$800.0
2045	8 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL	3	EA	\$1,300.00	\$3,900.00	\$1,310.00	\$3,930.00	\$1,200.00	\$3,600.00	\$1,200.00	\$3,600.0
2050	10 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL	5	EA	\$1,800.00	\$9,000.00	\$1,860.00	\$9,300.00	\$1,700.00	\$8,500.00	\$1,700.00	\$8,500.0
2055	12 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL	13	EA	\$2,500.00	\$32,500.00	\$2,300.00	\$29,900.00	\$2,000.00	\$26,000.00	\$2,000.00	\$26,000.0
2057	16 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL	1	EA	\$6,700.00	\$6,700.00	\$7,100.00	\$7,100.00	\$5,700.00	\$5,700.00		\$6,000.0
2080	Hydrant Assembly	7	EA	\$4,500.00	\$31,500.00	\$5,500.00	\$38,500.00	\$4,500.00	\$31,500.00	\$4,500.00	\$31,500.0
2085	6 Inch Blowoff Assembly	1	EA	\$3,000.00	\$3,000.00		\$4,000.00	\$3,000.00	\$3,000.00		\$3,200.0

ROJECT	RENT NAME: S. 228th Street Improvements	BIDDER'S		MidMountain Contrac	ctors Inc.	2 Scarsella Bros., Inc.		Ceccanti, Inc.		Rodarte Construction	ı, Inc.
BID OPE	NING: May 10, 2011	NAME AN		PO Box 2909		PO Box 68697		4116 Brookdale Rd.	E.	PO Box 1875	
		ADDRESS		Kirkland, WA 98083	-2909	Seattle, WA 98168	-0697	Tacoma, WA 98446		Auburn, WA 98071-	1875
		TOTAL			\$5,255,489.73		\$5,349,088.36		\$5,406,122.31		\$5,520,143.94
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE		UNIT PRICE	AMOUNT	UNIT PRICE		UNIT PRICE	AMOUNT
2090	2 Inch Air Release Valve with Chamber	2	EA	\$2,500.00	\$5,000.00	\$4,500.00	\$9,000.00	\$3,900.00	\$7,800.00	\$4,200.00	\$8,400.00
2092	Remove Existing Air Release Chamber and Vault, Complete	1 17	EA EA	\$850.00	\$850.00	\$400.00	\$400.00	\$500.00	\$500.00	\$300.00	\$300.00
2105 2110	Abandon Existing Water Service Abandon Existing Water Main	17	LS	\$200.00 \$2,000.00	\$3,400.00 \$2,000.00	\$250.00 \$4,000.00	\$4,250.00 \$4,000.00	\$100.00 \$5,700.00	\$1,700.00 \$5,700.00	\$50.00	\$850.00 \$1,500.00
2110	Service Connection 2 Inch Diameter	1 17	EA							\$1,500.00	
2155	Water Service Line 2 Inch Diameter	700	LF	\$750.00 \$20.00	\$12,750.00 \$14,000.00	\$555.00 \$8.50	\$9,435.00 \$5,950.00	\$650.00 \$10.00	\$11,050.00 \$7,000.00	\$800.00 \$12.00	\$13,600.00 \$8,400.00
	2 Inch Meter Setter	17	EA	*							
2215 2225		17 17	EA	\$1,000.00 \$600.00	\$17,000.00 \$10,200.00	\$1,350.00 \$450.00	\$22,950.00 \$7,650.00	\$1,300.00 \$200.00	\$22,100.00 \$3,400.00	\$800.00 \$500.00	\$13,600.00 \$8,500.00
2225	Meter Box for 1-1/2 Up to 2 Inch Diameter Service Adjusting Water Main	600	LF	\$600.00	\$10,200.00				\$3,400.00		\$8,500.00
2255*	Shoring or Extra Excavation Class B	27,000	SF	\$40.00	\$24,000.00 \$27,000.00	\$30.00 \$0.10	\$18,000.00 \$2,700.00	\$15.00 \$0.40	\$9,000.00	\$20.00 \$0.05	\$12,000.00
2260*	Foundation Material, Class I and II	600	TON								
2275*	Pipe Zone Bedding	700	TON	\$18.00 \$18.00	\$10,800.00 \$12,600.00	\$18.15 \$13.15	\$10,890.00 \$9,205.00	\$5.00 \$13.00	\$3,000.00 \$9,100.00	\$22.00 \$20.00	\$13,200.00 \$14,000.00
2285*	Bank Run Gravel for Trench Backfill	7,900	TON	\$2.50	\$12,800.00	\$13.15	\$103,885.00	\$13.00	\$102,700.00	\$13.00	\$14,000.00
2315	Remove Existing 24 Inch Diameter Clay Pipe	1,700	LS	\$10,000.00	\$19,750.00	\$500.00	\$103,885.00	\$2,700.00	\$2,700.00	\$500.00	\$500.00
2320	Remove Existing Vater Meter Box	17	EA	\$10,000.00	\$8,500.00	\$50.00	\$850.00	\$2,700.00	\$850.00	\$30.00	\$510.00
2325	Remove Existing Water Valve	5	EA	\$70.00	\$350.00	\$50.00	\$250.00	\$100.00	\$500.00	\$50.00	\$250.00
2325	Remove Existing Water Valve Remove Existing Fire Hydrant Assembly	5	EA	\$900.00	\$4,500.00	\$550.00	\$2,750.00	\$100.00	\$500.00	\$150.00	\$750.00
2340	Repair Existing 8 Inch Check Valve in Existing Fire Vault on Private Property	1	LS	\$2,800.00	\$2,800.00	\$5,000.00	\$5,000.00	\$1,800.00	\$1,800.00	\$3,000.00	\$3,000.00
2345	Lower Existing Private Fire Line at DWF	1	LS	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$1,800.00	\$1,800.00	\$11,500.00	\$11,500.00
	SUB-TOTAL				\$834,500.00		\$733,117.50		\$538,675.00		\$670,397.19
	Sales Tax 9.5%				\$79,277.50		\$69,646.16		\$51,174.13		\$63,687.73
	TOTAL SCHEDULE II				\$913,777.50		\$802,763.66		\$589,849.13		\$734,084.92
CHEDUI	LE III A - CITY OF SEATTLE LEACHATE SEWER										
3010A	8 Inch Diameter Ductile Iron, CI 50 Sewer Pipe	50	LF	\$110.00	\$5,500.00	\$150.00	\$7,500.00	\$60.00	\$3,000.00	\$100.00	\$5,000.00
3060A	City of Seattle Maintenance Hole Type 204a 48 Inch Diameter	2	EA	\$3,000.00	\$6,000.00	\$5,270.00	\$10,540.00	\$4,400.00	\$8,800.00	\$3,000.00	\$6,000.00
3085A	Locking Manhole Frame and Cover	2	EA	\$450.00	\$900.00	\$485.00	\$970.00	\$300.00	\$600.00	\$400.00	\$800.00
3112A	Removal and Disposal of Existing Sanitary Sewer System, Complete	1	LS	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00	\$500.15	\$500.15
3115A*	Shoring or Extra Excavation Class B	900	SF	\$1.00	\$900.00	\$0.10	\$90.00	\$0.40	\$360.00	\$0.05	\$45.00
3118A*	Permeable Ballast	40	TON	\$18.00	\$720.00	\$18.15	\$726.00	\$5.00	\$200.00	\$19.00	\$760.00
3120A*	Foundation Material, Class I and II	20	TON	\$18.00	\$360.00	\$18.15	\$363.00	\$5.00	\$100.00	\$22.00	\$440.00
3135A*	Pipe Zone Bedding	30	TON	\$18.00	\$540.00	\$13.15	\$394.50	\$13.00	\$390.00	\$20.00	\$600.00
3140A*	·	40	SY	\$3.00	\$120.00	\$2.25	\$90.00	\$1.50	\$60.00	\$2.00	\$80.00
3145A*		400	TON	\$2.50	\$1,000.00	\$13.15	\$5,260.00	\$13.00	\$5,200.00	\$13.00	\$5,200.00
3160A	Television Inspection with Audio Assessment	1	LS	\$3,000.00	\$3,000.00	\$600.00	\$600.00	\$1,200.00	\$1,200.00	\$500.00	\$500.00
3185A	. 3 3 31 3	1	LS	\$6,500.00	\$6,500.00	\$2,500.00	\$2,500.00	\$1,200.00	\$1,200.00	\$500.00	\$500.00
	SUB-TOTAL				\$29,040.00		\$30,533.50		\$22,310.00		\$20,425.15
	Sales Tax 9.5%				\$2,758.80		\$2,900.68		\$2,119.45		\$1,940.39
	TOTAL SCHEDULE III A				\$31,798.80		\$33,434.18		\$24,429.45		\$22,365.54

	KENT NAME: S. 228th Street Improvements NING: May 10, 2011	BIDDER'S NAME AN ADDRESS	D	1 MidMountain Contrac PO Box 2909 Kirkland, WA 98083		2 Scarsella Bros., Inc PO Box 68697 Seattle, WA 98168		3 Ceccanti, Inc. 4116 Brookdale Rd. I Tacoma, WA 98446	E.	4 Rodarte Constructio PO Box 1875 Auburn, WA 98071	
		TOTAL			\$5,255,489.73		\$5,349,088.36		\$5,406,122.31		\$5,520,143.94
ITEM					TOTAL	-	TOTAL		TOTAL		TOTA
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
	E III B - CITY OF KENT SEWER										
3005B	PVC Sewer Pipe, 8 Inch Diameter	150	LF	\$90.00	\$13,500.00	\$80.05	\$12,007.50	\$60.00	\$9,000.00	\$115.00	\$17,250.00
3015B	PVC Sewer Pipe, 10 Inch Diameter	335	LF	\$85.00	\$28,475.00	\$85.60	\$28,676.00	\$65.00	\$21,775.00	\$35.00	\$11,725.00
3035B	PVC Side Sewer Pipe, 6 Inch Diameter	80	LF	\$50.00	\$4,000.00	\$88.50	\$7,080.00	\$65.00	\$5,200.00	\$65.00	\$5,200.00
3038B*	14 Inch Diameter Steel Casing	100	LF	\$90.00	\$9,000.00	\$138.00	\$13,800.00	\$10.00	\$1,000.00	\$100.00	\$10,000.00
3060B	Manhole 12 Feet to 20 Feet, Type 2 48 Inch Diameter	2	EA	\$6,500.00	\$13,000.00	\$5,275.00	\$10,550.00	\$4,400.00	\$8,800.00	\$2,500.00	\$5,000.00
3112B	Removal and Disposal of Existing Sanitary Sewer System, Complete	1	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$1,200.00	\$1,200.00	\$500.00	\$500.00
3115B*	Shoring or Extra Excavation Class B	6,500	SF	\$1.00	\$6,500.00	\$0.10	\$650.00	\$0.40	\$2,600.00	\$0.05	\$325.00
3120B*	Foundation Material, Class I and II	80	TON	\$18.00	\$1,440.00	\$18.15	\$1,452.00	\$5.00	\$400.00	\$22.00	\$1,760.0
3135B*	Pipe Zone Bedding	100	TON	\$18.00	\$1,800.00	\$13.15	\$1,315.00	\$13.00	\$1,300.00	\$20.00	\$2,000.0
3140B*	Geotextile Fabric, Non-Woven	250	SY	\$3.00	\$750.00	\$2.25	\$562.50	\$1.50	\$375.00	\$2.00	\$500.0
3145B*	Bank Run Gravel for Trench Backfill	2,800	TON	\$2.50	\$7,000.00	\$13.15	\$36,820.00	\$13.00	\$36,400.00	\$13.00	\$36,400.0
3187B	Temporary Sewage Bypass System	1	LS	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$17,000.00	\$17,000.00	\$2,500.00	\$2,500.0
3190B	METRO Sewer Manhole Connection	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.0
	SUB-TOTAL				\$110,965.00		\$137,913.00		\$125,050.00		\$113,160.0
	Sales Tax 9.5%				\$10,541.68		\$13,101.74		\$11,879.75		\$10,750.2
	TOTAL SCHEDULE III B				\$121,506.68		\$151,014.74		\$136,929.75		\$123,910.20
CHEDUL	E IV - STORM SEWER										
4015	Ductile Iron Storm Sewer Pipe, 12 Inch Diameter	400	LF	\$60.00	\$24,000.00	\$65.00	\$26,000.00	\$65.00	\$26,000.00	\$400.00	\$160,000.0
4025	Ductile Iron Storm Sewer Pipe, 18 Inch Diameter	175	LF	\$85.00	\$14,875.00	\$127.00	\$22,225.00	\$120.00	\$21,000.00	\$175.00	\$30,625.0
4063	72 Inch Diameter RCP, CI IV Storm Sewer Pipe	3,200	LF	\$500.00	\$1,600,000.00	\$470.00	\$1,504,000.00	\$493.00	\$1,577,600.00	\$470.00	\$1,504,000.0
4064	72 Inch Diameter RCP, CI IV 1/8 Bend for Single Mitre	1	EA	\$8,500.00	\$8,500.00	\$11,000.00	\$11,000.00	\$8,400.00	\$8,400.00	\$16,000.00	\$16,000.0
4080	Catch Basin, Type I	2	EA	\$1,200.00	\$2,400.00	\$1,100.00	\$2,200.00	\$1,100.00	\$2,200.00	\$850.00	\$1,700.0
4087	Remove and Reinstall Existing Flow Control Restrictor	1	LS	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,400.00	\$1,400.0
4100	Catch Basin, Type 2 48 Inch Diameter for Flow Control Restrictor	1	EA	\$3,800.00	\$3,800.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.
4101	Manhole, Type 2 108 Inch Diameter (Including Installation)	2	EA	\$18,000.00	\$36,000.00	\$20,500.00	\$41,000.00	\$14,000.00	\$28,000.00	\$22,500.00	\$45,000.0
4102	Manhole, Type 2 108 Inch Diameter (Structure Only)	2	EA	\$10,000.00	\$20,000.00	\$7,135.00	\$14,270.00	\$7,400.00	\$14,800.00	\$10,000.00	\$20,000.0
4103	Manhole, Type 2 120 Inch Diameter	2	EA	\$15,000.00	\$30,000.00	\$23,500.00	\$47,000.00	\$18,200.00	\$36,400.00	\$30,000.00	\$60,000.0
4108	Tee-Top Manhole, 48 Inch Diameter	7	EA	\$6,500.00	\$45,500.00	\$5,655.00	\$39,585.00	\$4,900.00	\$34,300.00	\$8,000.00	\$56,000.0
4110	Round Solid Locking Catch Basin Frame and Cover	11	EA	\$450.00	\$4,950.00	\$420.00	\$4,620.00	\$300.00	\$3,300.00	\$200.00	\$2,200.0
4113	Solid Locking 36 Inch by 4 Inch Reversible Frame and Grate	4	EA	\$500.00	\$2,000.00	\$885.00	\$3,540.00	\$360.00	\$1,440.00	\$500.00	\$2,000.0
4120	Vaned Catch Basin Frame and Grate	7	EA	\$500.00	\$3,500.00	\$300.00	\$2,100.00	\$200.00	\$1,400.00	\$200.00	\$1,400.0
4130	Abandon Existing Storm Sewer Pipe	14	EA	\$150.00	\$2,100.00	\$350.00	\$4,900.00	\$150.00	\$2,100.00	\$225.00	\$3,150.0
4135	Remove Existing Storm Sewer Pipe or Culvert	1,000	LF	\$10.00	\$10,000.00	\$12.00	\$12,000.00	\$6.00	\$6,000.00	\$7.00	\$7,000.0
4145	Remove Existing Catch Basin or Manhole	4	EA	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$100.00	\$400.00	\$100.00	\$400.0
4147	Remove Existing Flow Control Structure, Type 2 48 Inch Diameter	1	LS	\$460.00	\$460.00	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$100.00	\$100.0
4150*	Shoring or Extra Excavation Class B	40,000	SF	\$1.00	\$40,000.00	\$0.10	\$4,000.00	\$0.40	\$16,000.00	\$0.05	\$2,000.0
4153*	Permeable Ballast	6,000	TON	\$18.00	\$108,000.00	\$18.15	\$108,900.00	\$5.00	\$30,000.00	\$19.00	\$114,000.0
4155*	Foundation Material, Class I and II	50	TON	\$18.00	\$900.00	\$18.15	\$907.50	\$5.00	\$250.00	\$22.00	\$1,100.0
4160	Light Loose Riprap	100	TON	\$45.00	\$4,500.00		\$4,000.00	\$20.00	\$2,000.00	\$30.00	\$3,000.0
4163*	Geotextile Fabric, Non-Woven	4,000	SY	\$3.00	\$12,000.00		\$9,000.00		\$6,000.00	\$2.00	\$8,000.0

	(FA)=			1 -		1 .		1 .		1 .	
CITY OF		DIDDEDIC		1	atama Ima	2 Casasalla Dass Inc		3		A Dadonto Constructi	!
	NAME: S. 228th Street Improvements	BIDDER'S		MidMountain Contra	actors inc.	Scarsella Bros., Inc	•	Ceccanti, Inc.	г	Rodarte Constructi	on, inc.
BID OPE	NING: May 10, 2011	NAME AN			2 2000	PO Box 68697	0/07	4116 Brookdale Rd.		PO Box 1875	1 1075
		ADDRESS		Kirkland, WA 9808	3-2909	Seattle, WA 98168	-0697	Tacoma, WA 98446)	Auburn, WA 9807	1-18/5
		TOTAL			\$5,255,489.73		\$5,349,088.36		\$5,406,122.31		\$5,520,143.94
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
4165	Quarry Spalls	100	TON	\$45.00	\$4,500.00	\$25.00	\$2,500.00	\$18.00	\$1,800.00	\$30.00	\$3,000.00
4170*	Pipe Zone Bedding	9,000	TON	\$18.00	\$162,000.00	\$13.15	\$118,350.00	\$13.00	\$117,000.00	\$20.00	\$180,000.00
4180*	Bank Run Gravel for Trench Backfill	16,000	TON	\$2.50	\$40,000.00	\$13.15	\$210,400.00	\$13.00	\$208,000.00	\$13.00	\$208,000.00
4210	Thermoplastic Storm Drain Stenciling	5	EA	\$30.00	\$150.00	\$85.00	\$425.00	\$100.00	\$500.00	\$90.00	\$450.00
4220	Temporary Storm Drainage Bypass System	1	LS	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00	\$17,000.00	\$17,000.00	\$10,000.00	\$10,000.00
4225	Inlet Structure	1	LS	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	\$39,000.00	\$39,000.00	\$50,000.00	\$50,000.00
4230	Outlet Structure	1	LS	\$28,000.00	\$28,000.00	\$43,500.00	\$43,500.00	\$33,500.00	\$33,500.00	\$50,000.00	\$50,000.00
4235	78 Inch Diameter Restrictor Plate with 8 Inch Orifice	1	LS	\$5,000.00	\$5,000.00	\$4,530.00	\$4,530.00	\$3,700.00	\$3,700.00	\$5,000.00	\$5,000.00
4240	Detention Pond Block Wall Removal and Replacement	1	LS	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$3,700.00	\$3,700.00	\$8,000.00	\$8,000.00
	SUB-TOTAL				\$2,249,635.00		\$2,305,452.50		\$2,245,390.00		\$2,557,525.00
	Sales Tax 9.5%				\$213,715.33		\$219,017.99		\$213,312.05		\$242,964.88
	TOTAL SCHEDULE IV				\$2,463,350.33		\$2,524,470.49		\$2,458,702.05		\$2,800,489.88
SCHEDUI	E V - TRAFFIC CONTROL										
5005	Traffic Control Labor	2,500	HR	\$40.00	\$100,000.00	\$49.00	\$122,500.00	\$41.00	\$102,500.00	\$42.00	\$105,000.00
5010	Construction Signs Class A	1,000	SF	\$10.00	\$10,000.00	\$17.50	\$17,500.00	\$12.00	\$12,000.00	\$18.00	\$18,000.00
5015	Traffic Control Supervisor	800	HR	\$65.00	\$52,000.00	\$68.40	\$54,720.00	\$100.00	\$80,000.00	\$45.00	\$36,000.00
5020	Temporary Traffic Control Devices	1	LS	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$12,500.00	\$12,500.00	\$5,000.00	\$5,000.00
5030	Portable Changeable Message Sign (PCMS) (4 Each Per Day)	90	DAY	\$125.00	\$11,250.00	\$50.00	\$4,500.00	\$3.00	\$270.00	\$350.00	\$31,500.00
5035	Sequential Arrow Sign (SAS) (3 Each Per Day)	200	DAY	\$32.00	\$6,400.00	\$60.00	\$12,000.00	\$1.00	\$200.00	\$42.00	\$8,400.00
5040	Traffic Safty Drum	160	EA	\$50.00	\$8,000.00	\$20.00	\$3,200.00	\$40.00	\$6,400.00	\$55.00	\$8,800.00
5060	Type III Barricade	16	EA	\$180.00	\$2,880.00	\$250.00	\$4,000.00	\$180.00	\$2,880.00	\$175.00	\$2,800.00
5075	Permanent Channelization	1	LS	\$10,000.00	\$10,000.00	\$5,535.00	\$5,535.00	\$5,500.00	\$5,500.00	\$6,000.00	\$6,000.00
5135	Permanent Signing	1	LS	\$7,000.00	\$7,000.00	\$6,500.00	\$6,500.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
	SUB-TOTAL				\$212,530.00		\$235,455.00		\$224,750.00		\$222,500.00
	Sales Tax 9.5%				\$20,190.35		\$22,368.23		\$21,351.25		\$21,137.50
	TOTAL SCHEDULE V				\$232,720.35		\$257,823.23		\$246,101.25		\$243,637.50
SCHEDUL	E VI - ELECTRICAL										
6005	Illumination System	1	LS	\$7,000.00	\$7,000.00	\$5,250.00	\$5,250.00	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00
6020	Utility Conduit Crossings	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
6025	Traffic Signal Wiring	600	LF	\$17.00	\$10,200.00	\$18.00	\$10,800.00	\$15.00	\$9,000.00	\$19.00	\$11,400.00
6070	Video Detection System, Complete, Including Installation	4	EA	\$10,000.00	\$40,000.00	\$10,200.00	\$40,800.00	\$10,000.00	\$40,000.00	\$10,000.00	\$40,000.00
6075	Video Detection System Installation Only	1	EA	\$1,700.00	\$1,700.00	\$2,000.00	\$2,000.00	\$1,700.00	\$1,700.00	\$2,000.00	\$2,000.00
	SUB-TOTAL				\$78,900.00		\$78,850.00		\$75,700.00		\$78,900.00
	Sales Tax 9.5%				\$7,495.50		\$7,490.75		\$7,191.50		\$7,495.50
	TOTAL SCHEDULE VI				\$86,395.50		\$86,340.75		\$82,891.50		\$86,395.50
SCHEDUL	E VII - EROSION AND SEDIMENT CONTROL										
7000	Seeding, Fertilizing, and Mulching	1.0	AC	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$1,700.00	\$1,700.00	\$2,000.00	\$2,000.00
7005	Filter Fabric Fence	500	LF	\$6.00	\$3,000.00	\$5.00	\$2,500.00	\$4.00	\$2,000.00	\$4.00	\$2,000.00
7010	10 Foot Straw Wattles for Drainage Way Barrier	18	EA	\$50.00	\$900.00	\$35.00	\$630.00	\$85.00	\$1,530.00	\$50.00	\$900.00
7015	Inlet Protection	25	EA	\$65.00	\$1,625.00		\$1,875.00	\$68.00	\$1,700.00	\$55.00	\$1,375.00
7020	Straw Mulch	650	SY	\$1.00	\$650.00		\$1,300.00	\$2.00	\$1,300.00		\$1,625.00

	CENT NAME: S. 228th Street Improvements IING: May 10, 2011	BIDDER'S NAME AN ADDRESS	ID	1 MidMountain Contrac PO Box 2909 Kirkland, WA 98083		Scarsella Bros., Inc. PO Box 68697 Seattle, WA 98168-		3 Ceccanti, Inc. 4116 Brookdale Rd. Tacoma, WA 98446		4 Rodarte Constructio PO Box 1875 Auburn, WA 98071	
		TOTAL			\$5,255,489.73		\$5,349,088.36		\$5,406,122.31		\$5,520,143.9
ITEM					TOTAL		TOTAL		TOTAL		TOT
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOU
7025	Clear Plastic Covering	300	SY	\$2.00	\$600.00	\$4.00	\$1,200.00	\$2.00	\$600.00	\$2.50	\$750.0
7030	ESC Lead	300	HR	\$15.00	\$4,500.00	\$0.01	\$3.00	\$1.00	\$300.00	\$65.00	\$19,500.0
7055	Erosion/Water Pollution Control	1	FA	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.0
7060	Stormwater Tanker Truck	1	FA	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.0
7065	Baker Tank	1	FA	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.0
7070	Street Cleaning	1,000	HOUR	\$60.00	\$60,000.00	\$0.01	\$10.00	\$50.00	\$50,000.00	\$85.00	\$85,000.0
	SUB-TOTAL				\$223,275.00		\$160,518.00		\$209,130.00		\$263,150.0
	Sales Tax 9.5%				\$21,211.13		\$15,249.21		\$19,867.35		\$24,999.2
	TOTAL SCHEDULE VII				\$244,486.13		\$175,767.21		\$228,997.35		\$288,149.2
SCHEDUL	E VIII - ROADSIDE RESTORATION										
8005	Topsoil Type A	100	CY	\$40.00	\$4,000.00	\$60.00	\$6,000.00	\$30.00	\$3,000.00	\$40.00	\$4,000.0
8015	Bark or Wood Chip Mulch	25	CY	\$40.00	\$1,000.00	\$50.00	\$1,250.00	\$40.00	\$1,000.00	\$45.00	\$1,125.0
8020	Coarse Compost	25	CY	\$40.00	\$1,000.00	\$50.00	\$1,250.00	\$40.00	\$1,000.00	\$42.00	\$1,050.0
	SUB-TOTAL				\$6,000.00		\$8,500.00		\$5,000.00		\$6,175.0
	Sales Tax 9.5%				\$570.00		\$807.50		\$475.00		\$586. <i>6</i>
	TOTAL SCHEDULE VIII				\$6,570.00		\$9,307.50		\$5,475.00		\$6,761.6
SCHEDIII	E IX A - PLANT MITIGATION - 64TH AVE. DITCH										
	Shore pine (Pinus contorta var. Contorta) (5 gal.)	29	EA	\$25.00	\$725.00	\$45.00	\$1,305.00	\$10.00	\$290.00	\$15.00	\$435.0
	Bitter cherry (Prunus emarginata) (1 gal.)	30	EA	\$9.00	\$270.00	\$15.00	\$450.00	\$3.00	\$90.00	\$15.00	\$450.0
10010A		47	EA	\$9.00	\$423.00	\$15.00	\$705.00	\$3.00	\$141.00	\$15.00	\$705.0
10015A*	, , , , ,	47	EA	\$9.00	\$423.00	\$15.00	\$705.00	\$3.00	\$141.00	\$15.00	\$705.0
10015A	, , , , , ,	47	EA	\$9.00	\$423.00	\$15.00	\$705.00	\$3.00	\$141.00	\$15.00	\$705.0
10050A	Nootka rose (Rosa nutkana) (1 gal.)	47	EA	\$9.00	\$423.00	\$15.00	\$705.00	\$3.00	\$141.00	\$15.00	\$705.0
	Tall Oregon (Berberis aquifolium) (1 gal.)	47	EA	\$9.00	\$423.00	\$15.00	\$705.00	\$3.00	\$141.00	\$15.00	\$705.0
10055A	SUB-TOTAL	47	LA	\$9.00	\$3,110.00	\$15.00	\$5,280.00	\$3.00	\$1,085.00	\$15.00	\$4,410.
	Sales Tax 9.5%				\$295.45		\$5,260.60		\$1,083.08		\$4,410.
	TOTAL SCHEDULE IX A				\$3,405.45		\$5,781.60		\$1,188.08		\$4,828.
201150111	TIVE BLANT MITICATION BRAINAGE DISTRICT NO 4 DITCH										
	E IX B - PLANT MITIGATION - DRAINAGE DISTRICT NO.1 DITCH			***	470.00	*15.00	4100.00	***	***	*15.00	4100
	Black hawthorn (Crataegus douglasii) (1 gal.)	8	EA	\$9.00	\$72.00	\$15.00	\$120.00	\$3.00	\$24.00	\$15.00	\$120.0
	Pacific ninebark (Physocarpus capitaetus) (1 gal.)	12	EA	\$9.00	\$108.00	\$15.00	\$180.00	\$3.00	\$36.00	\$15.00	\$180.0
	Black twinberry (Lonicera involucrata) (1 gal.)	12	EA	\$9.00	\$108.00	\$15.00	\$180.00	\$3.00	\$36.00	\$15.00	\$180.0
	Indian plum (Oemleria cerasiformis) (1 gal.)	8	EA	\$9.00	\$72.00	\$15.00	\$120.00	\$3.00	\$24.00	\$15.00	\$120.0
	Salmonberry (Rubus spectabilis) (1 gal.)	11	EA	\$9.00	\$99.00	\$15.00	\$165.00	\$3.00	\$33.00	\$15.00	\$165.0
10040B	Red-Osier dogwood (Cornus sericea) (1 gal.) SUB-TOTAL Sales Tax 9.5%	10	EA	\$9.00	\$90.00 \$549.00 \$52.16	\$15.00	\$150.00 \$915.00 \$86.93	\$3.00	\$30.00 \$183.00 \$17.39	\$15.00	\$150.0 \$915.0 \$86.0
	TOTAL SCHEDULE IX B				\$601.16		\$1,001.93		\$200.39		\$1, 001 .9

CITY OF KENT				1	2	3	4
PROJECT NAME: S.	228th Street Improvements	BIDDER'S	6	MidMountain Contractors Inc.	Scarsella Bros., Inc.	Ceccanti, Inc.	Rodarte Construction, Inc.
BID OPENING: May	<i>t</i> 10, 2011	NAME AN	D	PO Box 2909	PO Box 68697	4116 Brookdale Rd. E.	PO Box 1875
		ADDRESS	6	Kirkland, WA 98083-2909	Seattle, WA 98168-0697	Tacoma, WA 98446	Auburn, WA 98071-1875
		TOTAL		\$5,255,489.73	\$5,349,088.36	\$5,406,122.31	\$5,520,143.94
ITEM				TOTA	L TOTAL	TOTAL	TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE AMOUN	T UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT
SUMMARY							
Total Schedule I A - S	Street			\$1,120,694.18	\$1,272,091.61	\$1,598,179.88	\$1,176,572.03
Total Schedule I B - S	Street - DWF Parking Lot and Driveway Reconstruction			\$30,183.68	\$29,291.47	\$33,178.50	\$31,946.63
Total Schedule II - W	'ater			\$913,777.50	\$802,763.66	\$589,849.13	\$734,084.92
Total Schedule III A	- City of Seattle Leachate Sewer			\$31,798.80	\$33,434.18	\$24,429.45	\$22,365.54
Total Schedule III B -	- City of Kent Sewer			\$121,506.68	\$151,014.74	\$136,929.75	\$123,910.20
Tolal Schedule IV - S	torm Sewer			\$2,463,350.33	\$2,524,470.49	\$2,458,702.05	\$2,800,489.88
Total Schedule V - Tr	affic Control			\$232,720.35	\$257,823.23	\$246,101.25	\$243,637.50
Total Schedule VI - E	lectrical			\$86,395.50	\$86,340.75	\$82,891.50	\$86,395.50
Total Schedule VII -	Temporary Erosion and Sedimentation Control			\$244,486.13	\$175,767.21	\$228,997.35	\$288,149.25
Total Schedule VIII -	Landscape Restoration			\$6,570.00	\$9,307.50	\$5,475.00	\$6,761.63
Total Schedule IX A -	Plant Mitigation - 64th Ave. Ditch			\$3,405.45	\$5,781.60	\$1,188.08	\$4,828.95
Total Schedule IX B -	Plant Mitigation - Drainage District No. 1 Ditch			\$601.16	\$1,001.93	\$200.39	\$1,001.93
CONSTRUCTION CO	DNTRACT TOTAL			\$5,255,489.73	\$5,349,088.36	\$5,406,122.31	\$5,520,143.94

	KENT NAME: S. 228th Street Improvements NING: May 10, 2011	BIDDER'S NAME AN ADDRESS	D	Northwest Constru 1408 140th Pl. NE, Bellevue, WA 980	Suite 101	Tri-State Construct PO Box 3686 Bellevue, WA 980	·	7 Titan Earthwork, LLt 13806 16th St. E. Sumner, WA 98390		8 Frank Coluccio Con 9600 MLK Jr. Way Seattle, WA 98118	S.
		TOTAL			\$5,663,549.47		\$5,698,118.30		\$5,948,795.00		\$6,767,105.4
ITEM					TOTAL		TOTAL		TOTAL		TOT
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOU
SCHEDUI	E I A - STREET										
1000A	Mobilization	1	LS	\$500.000.00	\$500,000.00	\$250.000.00	\$250,000.00	\$543,000.00	\$543,000.00	\$775,000.00	\$775,000.0
1005A	Clearing and Grubbing	1	LS	\$8,500.00	\$8,500.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.0
1007A	Remove and Dispose of Trees and Stumps for Trees 8 Inch Diameter and Above	3	EA	\$200.00	\$600.00	\$300.00	\$900.00	\$1,000.00	\$3,000.00	\$200.00	\$600.0
1010A*	Remove Existing Asphalt Concrete Pavement	7,500	SY	\$3.00	\$22,500.00	\$3.00	\$22,500.00	\$5.00	\$37,500.00	\$10.00	\$75,000.0
1015A	Remove Existing Cement Concrete Pavement	140	SY	\$15.00	\$2,100.00	\$4.50	\$630.00	\$5.50	\$770.00	\$20.00	\$2,800.0
1020A	Remove Cement Concrete Sidewalk and Driveway	225	SY	\$6.50	\$1,462.50	\$2.50	\$562.50	\$9.00	\$2,025.00	\$20.00	\$4,500.0
1022A	Remove Cement Concrete Driveway at STA 15+87 LT	20	SY	\$15.00	\$300.00	\$2.50	\$50.00	\$12.00	\$240.00	\$20.00	\$400.0
1025A	Remove Cement Concrete Curb and Gutter	1,025	LF	\$2.50	\$2,562.50	\$1.50	\$1,537.50	\$2.50	\$2,562.50	\$3.00	\$3,075.0
1030A*	Remove Cement Concrete Extruded Curb	50	LF	\$2.00	\$100.00	\$1.05	\$52.50	\$2.50	\$125.00	\$2.00	\$100.
1035A	Removal of Traffic Islands and/or Traffic Curb	1	LS	\$3,500.00	\$3,500.00	\$100.00	\$100.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.
1045A	Removal and Re-Install Traffic Signs	1	LS	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.
1050A*	Saw Cut Existing Asphalt Concrete Pavement	17,600	LF	\$2.00	\$35,200.00	\$2.00	\$35,200.00	\$2.50	\$44,000.00	\$1.50	\$26,400.
1055A	Saw Cut Existing Cement Concrete Pavement	300	LF	\$5.00	\$1,500.00	\$3.00	\$900.00	\$5.00	\$1,500.00	\$3.00	\$900.
1075A	Gravel Borrow Including Haul and Compaction	3,000	TON	\$18.35	\$55,050.00	\$12.00	\$36,000.00	\$16.20	\$48,600.00	\$15.00	\$45,000.
1080A	Crushed Surfacing Top Course, 5/8 Inch Minus	2,000	TON	\$24.35	\$48,700.00	\$17.25	\$34,500.00	\$22.55	\$45,100.00	\$18.00	\$36,000.
1085A*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	2,500	TON	\$20.00	\$50,000.00	\$16.50	\$41,250.00	\$20.00	\$50,000.00	\$18.00	\$45,000.0
1090A	HMA Class 3/4", PG 64-22	4,000	TON	\$150.00	\$600,000.00	\$75.00	\$300,000.00	\$89.00	\$356,000.00	\$100.00	\$400,000.
1125A*	Cold Plant Mix for Temporary Pavement Patch	1,000	TON	\$0.01	\$10.00	\$90.00	\$90,000.00	\$120.00	\$120,000.00	\$75.00	\$75,000.
1140A	Cement Concrete Driveways 8 Inch Depth, Reinforced	100	SY	\$120.00	\$12,000.00	\$79.00	\$7,900.00	\$80.00	\$8,000.00	\$100.00	\$10,000.
1143A	Cement Concrete Driveway, 8 Inch Depth, Reinforced at STA 15+87 LT	20	SY	\$150.00	\$3,000.00	\$79.00	\$1,580.00	\$96.00	\$1,920.00	\$100.00	\$2,000.0
1145A	Cement Concrete Sidewalk	125	SY	\$60.00	\$7,500.00	\$48.00	\$6,000.00	\$58.00	\$7,250.00	\$85.00	\$10,625.
1205A	Cement Concrete Curb and Gutter	1,100	LF	\$22.00	\$24,200.00	\$15.50	\$17,050.00	\$19.00	\$20,900.00	\$25.00	\$27,500.
1210A*	Cement Concrete Extruded Curb	50	LF	\$10.00	\$500.00	\$5.75	\$287.50	\$6.40	\$320.00	\$22.00	\$1,100.
1245	Adjust Existing Monument, Case and Cover to Finished Grade	2	EA	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$400.00	\$800.
1315A	Pothole Utilities	15	EA	\$1,000.00	\$15,000.00	\$500.00	\$7,500.00	\$300.00	\$4,500.00	\$500.00	\$7,500.
1330A	Field Trailer	1	LS	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00	\$5,000.00	\$5,000.00	\$50,000.00	\$50,000.
1345A	Watering	1,000	HR	\$95.00	\$95,000.00	\$120.00	\$120,000.00	\$105.00	\$105,000.00	\$1.00	\$1,000.
1355A	Minor Changes	1	CALC	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.
1360A	Existing Irrigation System Removal, Repair and/or Modification	1	FA	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.
1365A	Controlled Density Fill	150	CY	\$90.00	\$13,500.00	\$70.00	\$10,500.00	\$110.00	\$16,500.00	\$100.00	\$15,000.
	SUB-TOTAL				\$1,560,285.00		\$1,047,000.00		\$1,485,312.50		\$1,700,300.
	Sales Tax 9.5%				\$148,227.08		\$99,465.00		\$141,104.69		\$161,528.
	TOTAL SCHEDULE I A				\$1,708,512.08		\$1,146,465.00		\$1,626,417.19		\$1,861,828.5

CITY OF H	KENT			5		6		7		8	
	NAME: S. 228th Street Improvements	BIDDER'S	5	Northwest Construct	tion, Inc.	Tri-State Constructi	on, Inc.	Titan Earthwork, LLC		Frank Coluccio Cons	truction Co.
BID OPEN	NING: May 10, 2011	NAME AN	D	1408 140th Pl. NE, S	Suite 101	PO Box 3686		13806 16th St. E.		9600 MLK Jr. Way S	
	•	ADDRESS	;	Bellevue, WA 9800	7	Bellevue, WA 9800	9-3686	Sumner, WA 98390		Seattle, WA 98118	
		TOTAL			\$5,663,549.47		\$5,698,118.30		\$5,948,795.00		\$6,767,105.48
ITEM					TOTAL		TOTAL		TOTAL		TOTA
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
SCHEDUL	E I B - STREET (DWF PARKING LOT AND DRIVEWAY RECONSTRUCT	TION)									
1010B*	Remove Existing Asphalt Concrete Pavement	400	SY	\$3.00	\$1,200.00	\$3.00	\$1,200.00	\$5.00	\$2,000.00	\$10.00	\$4,000.00
1030B*	Remove Cement Concrete Extruded Curb	1,000	LF	\$2.00	\$2,000.00	\$1.05	\$1,050.00	\$2.50	\$2,500.00	\$2.00	\$2,000.00
1035B	Remove Existing Concrete Walls, Pad and Chain Link Gate at Trash Enclosure	1	LS	\$1,500.00	\$1,500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00
1050B*	Saw Cut Existing Asphalt Concrete Pavement	300	LF	\$2.00	\$600.00	\$2.00	\$600.00	\$2.50	\$750.00	\$1.50	\$450.00
1085B*	Crushed Surfacing Base Course, 1-1/4 Inch Minus	100	TON	\$20.00	\$2,000.00	\$16.50	\$1,650.00	\$20.00	\$2,000.00	\$18.00	\$1,800.00
1095B	HMA Class 1/2", PG 64-22	100	TON	\$150.00	\$15,000.00	\$97.00	\$9,700.00	\$123.00	\$12,300.00	\$100.00	\$10,000.00
1125B*	Cold Plant Mix for Temporary Pavement Patch	20	TON	\$0.01	\$0.20	\$90.00	\$1,800.00	\$120.00	\$2,400.00	\$75.00	\$1,500.00
1210B*	Cement Concrete Extruded Curb	1,000	LF	\$10.00	\$10,000.00	\$5.75	\$5,750.00	\$6.40	\$6,400.00	\$22.00	\$22,000.00
1365B	Parking Lot Pavement Marking	1	LS	\$1,500.00	\$1,500.00	\$750.00	\$750.00	\$300.00	\$300.00	\$2,000.00	\$2,000.00
	SUB-TOTAL				\$33,800.20		\$23,000.00		\$29,650.00		\$48,750.00
	Sales Tax 9.5%				\$3,211.02		\$2,185.00		\$2,816.75		\$4,631.2
	TOTAL SCHEDULE I B				\$37,011.22		\$25,185.00		\$32,466.75		\$53,381.25
SCHEDUL	E II - WATER										
2003	4 Inch Connection to Existing Water Main	2	EA	\$1,500.00	\$3,000.00	\$1,350.00	\$2,700.00	\$1,800.00	\$3,600.00	\$3,000.00	\$6,000.0
2004	6 Inch Connection to Existing Water Main	1	EA	\$2,500.00	\$2,500.00	\$1,400.00	\$1,400.00	\$1,850.00	\$1,850.00	\$4,000.00	\$4,000.0
2005	8 Inch Connection to Existing Water Main	9	EA	\$2,600.00	\$23,400.00	\$2,200.00	\$19,800.00	\$2,150.00	\$19,350.00	\$5,000.00	\$45,000.0
2010	10 Inch Connection to Existing Water Main	8	EA	\$2,750.00	\$22,000.00	\$3,000.00	\$24,000.00	\$2,450.00	\$19,600.00	\$6,000.00	\$48,000.0
2015	12 Inch Connection to Existing Water Main	12	EA	\$3,000.00	\$36,000.00	\$3,800.00	\$45,600.00	\$3,200.00	\$38,400.00	\$7,500.00	\$90,000.0
2017	16 Inch Connection to Existing 16 Inch Concrete Cylinder Water Main	1	EA	\$7,200.00	\$7,200.00	\$6,900.00	\$6,900.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.0
2018	16 Inch Connection to Existing Water Main	1	EA	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.0
2019	4 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	100	LF	\$80.00	\$8,000.00	\$75.00	\$7,500.00	\$54.00	\$5,400.00	\$100.00	\$10,000.0
2020	6 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	275	LF	\$75.00	\$20,625.00	\$71.00	\$19,525.00	\$55.00	\$15,125.00	\$110.00	\$30,250.0
2025	8 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	350	LF	\$138.00	\$48,300.00	\$145.00	\$50,750.00	\$130.00	\$45,500.00	\$125.00	\$43,750.0
2030	10 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water	400	LF	\$113.00	\$45,200.00	\$140.00	\$56,000.00	\$115.00	\$46,000.00	\$70.00	\$28,000.0
2034	Main 12 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	2,900	LF	\$76.50	\$221,850.00	\$86.00	\$249,400.00	\$70.00	\$203,000.00	\$75.00	\$217,500.0
2036	16 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	100	LF	\$250.00	\$25,000.00	\$370.00	\$37,000.00	\$267.00	\$26,700.00	\$100.00	\$10,000.0
2037	10 Inch Diameter Steel Casing Pipe	20	LF	\$100.00	\$2,000.00	\$155.00	\$3,100.00	\$70.00	\$1,400.00	\$50.00	\$1,000.0
2038	14 Inch Diameter Steel Casing Pipe	50	LF	\$100.00	\$5,000.00	\$180.00	\$9,000.00	\$30.00	\$1,500.00	\$75.00	\$3,750.0
2039	16 Inch Diameter Steel Casing Pipe	20	LF	\$120.00	\$2,400.00	\$185.00	\$3,700.00	\$100.00	\$2,000.00	\$150.00	\$3,000.0
2041	24 Inch Diameter Steel Casing Pipe	20	LF	\$175.00	\$3,500.00	\$245.00	\$4,900.00	\$170.00	\$3,400.00	\$200.00	\$4,000.0
2044	6 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$775.00	\$775.00	\$1,150.00	\$1,150.00	\$850.00	\$850.00	\$500.00	\$500.0
2045	8 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL	3	EA	\$1,200.00	\$3,600.00	\$1,400.00	\$4,200.00	\$1,160.00	\$3,480.00	\$1,200.00	\$3,600.0
2050	10 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL	5	EA	\$1,600.00	\$8,000.00	\$1,900.00	\$9,500.00	\$1,650.00	\$8,250.00	\$1,500.00	\$7,500.0
2055	12 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL	13	EA	\$1,900.00	\$24,700.00	\$2,600.00	\$33,800.00	\$2,050.00	\$26,650.00	\$2,000.00	\$26,000.0
2057	16 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL	1	EA	\$5,600.00	\$5,600.00	\$8,200.00	\$8,200.00	\$6,900.00	\$6,900.00	\$2,500.00	\$2,500.0
2080	Hydrant Assembly	7	EA	\$5,750.00	\$40,250.00	\$6,800.00	\$47,600.00	\$5,800.00	\$40,600.00	\$5,000.00	\$35,000.0
2085	6 Inch Blowoff Assembly	1	EA	\$3,600.00	\$3,600.00		\$4,100.00		\$3,655.00		\$5,000.0

	NAME: S. 228th Street Improvements NING: May 10, 2011	BIDDER'S NAME AN ADDRESS	D	Northwest Construct 1408 140th Pl. NE, S Bellevue, WA 9800	Suite 101	Tri-State Construct PO Box 3686 Bellevue, WA 9800		Titan Earthwork, LLC 13806 16th St. E. Sumner, WA 98390		Frank Coluccio Cons 9600 MLK Jr. Way S Seattle, WA 98118	S.
		TOTAL			\$5,663,549.47		\$5,698,118.30		\$5,948,795.00		\$6,767,105.48
ITEM		TOTAL			35,003,549.47 TOTAL		\$5,098,118.30 TOTAL		\$5,948,795.00 TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE		UNIT PRICE		UNIT PRICE		UNIT PRICE	AMOUNT
2090	2 Inch Air Release Valve with Chamber	2	EA	\$4,600.00	\$9,200.00	\$5,500.00	\$11,000.00	\$5,600.00	\$11,200.00	\$5,000.00	\$10,000.00
2092	Remove Existing Air Release Chamber and Vault, Complete	1	EA	\$900.00	\$900.00	\$550.00	\$550.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00
2105	Abandon Existing Water Service	17	EA	\$350.00	\$5,950.00	\$400.00	\$6,800.00	\$100.00	\$1,700.00	\$250.00	\$4,250.00
2110	Abandon Existing Water Main	1	LS	\$4,500.00	\$4,500.00	\$17,000.00	\$17,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
2125	Service Connection 2 Inch Diameter	17	EA	\$365.00	\$6,205.00	\$1,025.00	\$17,425.00	\$300.00	\$5,100.00	\$3,000.00	\$51,000.00
2155	Water Service Line 2 Inch Diameter	700	LF	\$29.00	\$20,300.00	\$19.50	\$13,650.00	\$27.00	\$18,900.00	\$35.00	\$24,500.00
2215	2 Inch Meter Setter	17	EA	\$875.00	\$14,875.00	\$825.00	\$14,025.00	\$545.00	\$9,265.00	\$1,500.00	\$25,500.00
2225	Meter Box for 1-1/2 Up to 2 Inch Diameter Service	17	EA	\$600.00	\$10,200.00	\$600.00	\$10,200.00	\$500.00	\$8,500.00	\$1,200.00	\$20,400.00
2250	Adjusting Water Main	600	LF	\$40.00	\$24,000.00	\$92.00	\$55,200.00	\$35.00	\$21,000.00	\$5.00	\$3,000.00
2255*	Shoring or Extra Excavation Class B	27,000	SF	\$0.50	\$13,500.00	\$0.50	\$13,500.00	\$0.25	\$6,750.00	\$2.00	\$54,000.00
2260*	Foundation Material, Class I and II	600	TON	\$9.00	\$5,400.00	\$19.00	\$11,400.00	\$25.00	\$15,000.00	\$20.00	\$12,000.00
2275*	Pipe Zone Bedding	700	TON	\$8.85	\$6,195.00	\$16.00	\$11,200.00	\$17.50	\$12,250.00	\$15.00	\$10,500.00
2285*	Bank Run Gravel for Trench Backfill	7,900	TON	\$8.00	\$63,200.00	\$11.00	\$86,900.00	\$15.50	\$122,450.00	\$12.00	\$94,800.00
2315	Remove Existing 24 Inch Diameter Clay Pipe	1	LS	\$2,000.00	\$2,000.00	\$1,700.00	\$1,700.00	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00
2320	Remove Existing Water Meter Box	17	EA	\$100.00	\$1,700.00	\$100.00	\$1,700.00	\$150.00	\$2,550.00	\$250.00	\$4,250.00
2325	Remove Existing Water Valve	5	EA	\$185.00	\$925.00	\$250.00	\$1,250.00	\$350.00	\$1,750.00	\$500.00	\$2,500.00
2335	Remove Existing Fire Hydrant Assembly	5	EA	\$365.00	\$1,825.00	\$900.00	\$4,500.00	\$1,000.00	\$5,000.00	\$500.00	\$2,500.00
2340	Repair Existing 8 Inch Check Valve in Existing Fire Vault on Private Property	1	LS	\$1,500.00	\$1,500.00	\$5,500.00	\$5,500.00	\$2,250.00	\$2,250.00	\$2,500.00	\$2,500.00
2345	Lower Existing Private Fire Line at DWF	1	LS	\$7,500.00	\$7,500.00	\$18,000.00	\$18,000.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00
	SUB-TOTAL				\$768,375.00		\$958,825.00		\$816,875.00		\$996,550.00
	Sales Tax 9.5%				\$72,995.63		\$91,088.38		\$77,603.13		\$94,672.25
	TOTAL SCHEDULE II				\$841,370.63		\$1,049,913.38		\$894,478.13		\$1,091,222.25
CHEDUI	LE III A - CITY OF SEATTLE LEACHATE SEWER										
3010A	8 Inch Diameter Ductile Iron, CI 50 Sewer Pipe	50	LF	\$175.00	\$8,750.00	\$73.00	\$3,650.00	\$55.00	\$2,750.00	\$200.00	\$10,000.00
3060A	City of Seattle Maintenance Hole Type 204a 48 Inch Diameter	2	EA	\$4,100.00	\$8,200.00	\$6,500.00	\$13,000.00	\$6,350.00	\$12,700.00	\$5,000.00	\$10,000.00
3085A	Locking Manhole Frame and Cover	2	EA	\$300.00	\$600.00	\$825.00	\$1,650.00	\$385.00	\$770.00	\$300.00	\$600.00
3112A	Removal and Disposal of Existing Sanitary Sewer System, Complete	1	LS	\$500.00	\$500.00	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$4,500.00	\$4,500.00
3115A*	Shoring or Extra Excavation Class B	900	SF	\$0.50	\$450.00	\$0.50	\$450.00	\$0.25	\$225.00	\$2.00	\$1,800.00
3118A*	Permeable Ballast	40	TON	\$10.50	\$420.00	\$19.00	\$760.00	\$25.00	\$1,000.00	\$20.00	\$800.00
3120A*	Foundation Material, Class I and II	20	TON	\$9.00	\$180.00	\$19.00	\$380.00	\$25.00	\$500.00	\$20.00	\$400.00
3135A*		30	TON	\$8.85	\$265.50	\$16.00	\$480.00	\$17.50	\$525.00	\$15.00	\$450.00
3140A*		40	SY	\$1.00	\$40.00	\$1.30	\$52.00	\$2.00	\$80.00	\$1.00	\$40.00
3145A*		400	TON	\$8.00	\$3,200.00	\$11.00	\$4,400.00	\$15.50	\$6,200.00	\$12.00	\$4,800.00
3160A	Television Inspection with Audio Assessment	1	LS	\$500.00	\$500.00	\$575.00	\$575.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00
3185A	. 3 5 3.	1	LS	\$4,000.00	\$4,000.00	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
	SUB-TOTAL				\$27,105.50		\$29,397.00		\$29,250.00		\$43,390.00
	Sales Tax 9.5%				\$2,575.02		\$2,792.72		\$2,778.75		\$4,122.05
	TOTAL SCHEDULE III A				\$29,680.52		\$32,189.72		\$32,028.75		\$47,512.05

ITY OF I				5		6		7		8	
	NAME: S. 228th Street Improvements	BIDDER'S		Northwest Construct		Tri-State Constructi	on, Inc.	Titan Earthwork, LLC		Frank Coluccio Const	
ID OPEN	NING: May 10, 2011	NAME ANI		1408 140th Pl. NE, S		PO Box 3686		13806 16th St. E.		9600 MLK Jr. Way S.	
		ADDRESS		Bellevue, WA 98007	1	Bellevue, WA 9800	9-3686	Sumner, WA 98390		Seattle, WA 98118	
		TOTAL			\$5,663,549.47		\$5,698,118.30		\$5,948,795.00		\$6,767,105.48
ITEM					TOTAL	-	TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
CHEDUL	E III B - CITY OF KENT SEWER										
3005B	PVC Sewer Pipe, 8 Inch Diameter	150	LF	\$105.00	\$15,750.00	\$115.00	\$17,250.00	\$70.00	\$10,500.00	\$200.00	\$30,000.00
3015B	PVC Sewer Pipe, 10 Inch Diameter	335	LF	\$85.00	\$28,475.00	\$30.00	\$10,050.00	\$39.00	\$13,065.00	\$200.00	\$67,000.00
3035B	PVC Side Sewer Pipe, 6 Inch Diameter	80	LF	\$100.00	\$8,000.00	\$52.00	\$4,160.00	\$28.00	\$2,240.00	\$100.00	\$8,000.00
3038B*	14 Inch Diameter Steel Casing	100	LF	\$100.00	\$10,000.00	\$180.00	\$18,000.00	\$62.00	\$6,200.00	\$75.00	\$7,500.00
3060B	Manhole 12 Feet to 20 Feet, Type 2 48 Inch Diameter	2	EA	\$4,000.00	\$8,000.00	\$6,800.00	\$13,600.00	\$4,750.00	\$9,500.00	\$5,000.00	\$10,000.00
3112B	Removal and Disposal of Existing Sanitary Sewer System, Complete	1	LS	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
3115B*	Shoring or Extra Excavation Class B	6,500	SF	\$0.50	\$3,250.00	\$0.50	\$3,250.00	\$0.25	\$1,625.00	\$2.00	\$13,000.00
3120B*	Foundation Material, Class I and II	80	TON	\$9.00	\$720.00	\$19.00	\$1,520.00	\$25.00	\$2,000.00	\$20.00	\$1,600.00
3135B*	Pipe Zone Bedding	100	TON	\$8.85	\$885.00	\$16.00	\$1,600.00	\$17.50	\$1,750.00	\$15.00	\$1,500.00
3140B*	Geotextile Fabric, Non-Woven	250	SY	\$1.00	\$250.00	\$1.30	\$325.00	\$2.00	\$500.00	\$1.00	\$250.00
3145B*	Bank Run Gravel for Trench Backfill	2,800	TON	\$8.00	\$22,400.00	\$11.00	\$30,800.00	\$15.50	\$43,400.00	\$12.00	\$33,600.00
3187B	Temporary Sewage Bypass System	1	LS	\$8,000.00	\$8,000.00	\$9,500.00	\$9,500.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00
3190B	METRO Sewer Manhole Connection	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
	SUB-TOTAL				\$126,230.00		\$131,555.00		\$117,780.00		\$217,450.00
	Sales Tax 9.5%				\$11,991.85		\$12,497.73		\$11,189.10		\$20,657.75
	TOTAL SCHEDULE III B				\$138,221.85		\$144,052.73		\$128,969.10		\$238,107.75
CHEDUI	E IV - STORM SEWER										
4015	Ductile Iron Storm Sewer Pipe, 12 Inch Diameter	400	LF	\$82.00	\$32,800.00	\$46.00	\$18,400.00	\$65.00	\$26,000.00	\$200.00	\$80,000.00
4025	Ductile Iron Storm Sewer Pipe, 18 Inch Diameter	175	LF	\$160.00	\$28,000.00	\$93.00	\$16,275.00	\$130.00	\$22,750.00	\$400.00	\$70,000.00
4063	72 Inch Diameter RCP, CI IV Storm Sewer Pipe	3,200	LF	\$450.00	\$1,440,000.00	\$510.00	\$1,632,000.00	\$350.00	\$1,120,000.00	\$475.00	\$1,520,000.00
4064	72 Inch Diameter RCP, CLIV 1/8 Bend for Single Mitre	1	EA	\$6,700.00	\$6,700.00	\$7,500.00	\$7,500.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00
4080	Catch Basin, Type I	2	EA	\$1,000.00	\$2,000.00	\$1,125.00	\$2,250.00	\$600.00	\$1,200.00	\$1,800.00	\$3,600.00
4087	Remove and Reinstall Existing Flow Control Restrictor	1	LS	\$500.00	\$500.00	\$800.00	\$800.00	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00
4100	Catch Basin, Type 2 48 Inch Diameter for Flow Control Restrictor	1	EA	\$3,000.00	\$3,000.00		\$3,700.00	The state of the s	\$2,500.00		\$3,000.00
4101	Manhole, Type 2 108 Inch Diameter (Including Installation)	2	EA	\$13,500.00	\$27,000.00	\$28,500.00	\$57,000.00	\$15,000.00	\$30,000.00	\$10,000.00	\$20,000.00
4102	Manhole, Type 2 108 Inch Diameter (Structure Only)	2	EA	\$7,500.00	\$15,000.00	\$8,800.00	\$17,600.00	\$10,000.00	\$20,000.00	\$5,000.00	\$10,000.00
4103	Manhole, Type 2 120 Inch Diameter	2	EA	\$24,000.00	\$48,000.00	\$34,500.00	\$69,000.00	\$17,500.00	\$35,000.00	\$12,000.00	\$24,000.00
4108	Tee-Top Manhole, 48 Inch Diameter	7	EA	\$5,200.00	\$36,400.00	\$6,250.00	\$43,750.00	\$2,500.00	\$17,500.00	\$3,000.00	\$21,000.00
4110	Round Solid Locking Catch Basin Frame and Cover	, 11	EA	\$235.00	\$2,585.00	\$400.00	\$4,400.00	\$500.00	\$5,500.00	\$300.00	\$3,300.00
4113	Solid Locking 36 Inch by 4 Inch Reversible Frame and Grate	4	EA	\$650.00	\$2,600.00	\$700.00	\$2,800.00	\$750.00	\$3,000.00	\$300.00	\$1,200.00
4120	Vaned Catch Basin Frame and Grate	7	EA	\$175.00	\$1,225.00	\$400.00	\$2,800.00	\$600.00	\$4,200.00	\$300.00	\$2,100.00
4130	Abandon Existing Storm Sewer Pipe	, 14	EA	\$225.00	\$3,150.00	\$650.00	\$9,100.00	\$500.00	\$7,000.00	\$500.00	\$7,000.00
4135	Remove Existing Storm Sewer Pipe or Culvert	1,000	LF	\$10.00	\$10,000.00		\$14,000.00		\$25,000.00	\$25.00	\$25,000.00
1100	Remove Existing Catch Basin or Manhole	4	EA	\$400.00	\$1,600.00	\$550.00	\$2,200.00	\$700.00	\$2,800.00	\$1,000.00	\$4,000.00
4145		1	LS	\$850.00	\$850.00	\$550.00	\$550.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
4145 4147	Remove Existing Flow Control Structure, Type 2 48 Inch Diameter	'	LO	******				1		ì	
4147	Remove Existing Flow Control Structure, Type 2 48 Inch Diameter				\$20,000,00	¢0 E0	\$20,000,00	¢0.2E	\$10,000,00	¢2.00	400 000 00
4147 4150*	Remove Existing Flow Control Structure, Type 2 48 Inch Diameter Shoring or Extra Excavation Class B	40,000	SF	\$0.50	\$20,000.00	\$0.50	\$20,000.00	\$0.25	\$10,000.00	\$2.00	
4147 4150* 4153*	Remove Existing Flow Control Structure, Type 2 48 Inch Diameter Shoring or Extra Excavation Class B Permeable Ballast	40,000 6,000	SF TON	\$0.50 \$10.50	\$63,000.00	\$19.00	\$114,000.00	\$25.00	\$150,000.00	\$20.00	\$120,000.00
	Remove Existing Flow Control Structure, Type 2 48 Inch Diameter Shoring or Extra Excavation Class B	40,000	SF	\$0.50							\$80,000.00 \$120,000.00 \$1,000.00 \$5,000.00

	5,948,795.00 TOTAL AMOUNT	8 Frank Coluccio Constru 9600 MLK Jr. Way S. Seattle, WA 98118	uction Co.
BID OPENING: May 10, 2011 NAME AND ADDRESS NAM	TOTAL	9600 MLK Jr. Way S.	uction Co.
ADDRESS Bellevue, WA 98007 Bellevue, WA 98009-3686 Sumner, WA 98390 TOTAL \$5,663,549.47 \$5,698,118.30 \$	TOTAL		
TOTAL \$5,663,549.47 \$5,698,118.30 \$	TOTAL	Seattle, WA 98118	
	TOTAL		
TATAL TATAL			\$6,767,105.48
ITEM TOTAL TOTAL TOTAL	AMOUNT		TOTAL
NO. DESCRIPTION QTY UNIT UNIT PRICE AMOUNT UNIT PRICE AMOUNT UNIT PRICE		UNIT PRICE	AMOUNT
4165 Quarry Spalls 100 TON \$25.00 \$2,500.00 \$18.50 \$1,850.00 \$27.50	\$2,750.00	\$50.00	\$5,000.00
4170* Pipe Zone Bedding 9,000 TON \$8.85 \$79,650.00 \$16.00 \$144,000.00 \$17.50	\$157,500.00	\$15.00	\$135,000.00
4180* Bank Run Gravel for Trench Backfill 16,000 TON \$8.00 \$128,000.00 \$11.00 \$176,000.00 \$15.50	\$248,000.00	\$12.00	\$192,000.00
4210 Thermoplastic Storm Drain Stenciling 5 EA \$125.00 \$625.00 \$85.00 \$425.00	\$425.00	\$200.00	\$1,000.00
4220 Temporary Storm Drainage Bypass System 1 LS \$6,500.00 \$6,500.00 \$1,900.00 \$1,900.00 \$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00
4225 Inlet Structure 1 LS \$38,000.00 \$38,000.00 \$44,000.00 \$471,000.00	\$171,000.00	\$35,000.00	\$35,000.00
4230 Outlet Structure 1 LS \$33,000.00 \$33,000.00 \$43,000.00 \$171,000.00	\$171,000.00	\$35,000.00	\$35,000.00
4235 78 Inch Diameter Restrictor Plate with 8 Inch Orifice 1 LS \$6,500.00 \$6,100.00 \$6,100.00 \$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
4240 Detention Pond Block Wall Removal and Replacement 1 LS \$2,800.00 \$7,800.00 \$7,800.00 \$5,000.00	\$5,000.00	\$75,000.00	\$75,000.00
	2,294,875.00		\$2,525,700.00
Sales Tax 9.5% \$194,696.33 \$234,764.00	\$218,013.13		\$239,941.50
TOTAL SCHEDULE IV \$2,244,131.33 \$2,705,964.00 \$2	,512,888.13	\$	\$2,765,641.50
SCHEDULE V - TRAFFIC CONTROL			
5005 Traffic Control Labor 2,500 HR \$43.50 \$108,750.00 \$43.00 \$107,500.00 \$52.00	\$130,000.00	\$50.00	\$125,000.00
5010 Construction Signs Class A 1,000 SF \$22.00 \$22,000.00 \$19.00 \$19,000.00 \$25.00	\$25,000.00	\$12.00	\$12,000.00
5015 Traffic Control Supervisor 800 HR \$47.50 \$38,000.00 \$1.00 \$800.00 \$62.00	\$49,600.00	\$50.00	\$40,000.00
5020 Temporary Traffic Control Devices 1 LS \$17,000.00 \$17,000.00 \$5,000.00 \$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
5030 Portable Changeable Message Sign (PCMS) (4 Each Per Day) 90 DAY \$400.00 \$36,000.00 \$300.00 \$27,000.00 \$200.00	\$18,000.00	\$300.00	\$27,000.00
5035 Sequential Arrow Sign (SAS) (3 Each Per Day) 200 DAY \$0.01 \$2.00 \$21.00 \$4,200.00 \$60.00	\$12,000.00	\$100.00	\$20,000.00
5040 Traffic Safty Drum 160 EA \$0.01 \$1.60 \$20.00 \$3,200.00 \$60.00	\$9,600.00	\$5.00	\$800.00
5060 Type III Barricade 16 EA \$250.00 \$4,000.00 \$260.00 \$4,160.00 \$175.00	\$2,800.00	\$25.00	\$400.00
5075 Permanent Channelization 1 LS \$3,000.00 \$5,600.00 \$5,600.00 \$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
5135 Permanent Signing 1 LS \$2,000.00 \$5,100.00 \$5,100.00 \$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00
SUB-TOTAL \$230,753.60 \$181,560.00 Sales Tax 9.5% \$21,921.59 \$17,248.20	\$280,000.00 \$26,600.00		\$259,200.00 \$24,624.00
	\$306,600.00		\$283,824.00
SCHEDULE VI - ELECTRICAL			
6005 Illumination System 1 LS \$7,000.00 \$7,000.00 \$7,000.00 \$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00
6020 Utility Conduit Crossings 1 FA \$20,000.00 \$20,000.00 \$20,000.00 \$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
6025 Traffic Signal Wiring 600 LF \$17.00 \$10,200.00 \$17.00 \$10,200.00 \$17.00	\$10,200.00	\$17.00	\$10,200.00
6070 Video Detection System, Complete, Including Installation 4 EA \$9,700.00 \$38,800.00 \$10,000.00 \$40,000.00 \$9,700.00	\$38,800.00	\$9,700.00	\$38,800.00
6075 Video Detection System Installation Only 1 EA \$1,700.00 \$1,700.00 \$2,000.00 \$2,000.00 \$1,700.00	\$1,700.00	\$1,700.00	\$1,700.00
SUB-TOTAL \$77,700.00 \$79,200.00	\$75,700.00		\$77,700.00
Sales Tax 9.5% \$7,381.50 \$7,524.00	\$7,191.50		\$7,381.50
TOTAL SCHEDULE VI \$85,081.50 \$86,724.00	\$82,891.50		\$85,081.50
SCHEDULE VII - EROSION AND SEDIMENT CONTROL			
7000 Seeding, Fertilizing, and Mulching 1.0 AC \$2,000.00 \$2,000.00 \$2,500.00 \$2,500.00	\$2,000.00	\$1,200.00	\$1,200.00
7005 Filter Fabric Fence 500 LF \$4.00 \$2,000.00 \$4.00 \$2,000.00 \$4.50	\$2,250.00	\$5.00	\$2,500.00
7010 10 Foot Straw Wattles for Drainage Way Barrier 18 EA \$75.00 \$1,350.00 \$50.00 \$70.00	\$1,260.00	\$50.00	\$900.00
7015 Inlet Protection 25 EA \$50.00 \$1,250.00 \$1,750.00 \$85.00	\$2,125.00	\$75.00	\$1,875.00
7020 Straw Mulch 650 SY \$4.50 \$2,925.00 \$1.10 \$715.00 \$7.00	\$4,550.00	\$2.00	\$1,300.00

	NAME: S. 228th Street Improvements NING: May 10, 2011	BIDDER'S NAME AN ADDRESS	D	Northwest Construct 1408 140th Pl. NE, Bellevue, WA 9800	Suite 101	Tri-State Construction PO Box 3686 Bellevue, WA 98009		Titan Earthwork, LLC 13806 16th St. E. Sumner, WA 98390		Frank Coluccio Cons 9600 MLK Jr. Way S Seattle, WA 98118	
		TOTAL			\$5,663,549.47		\$5,698,118.30		\$5,948,795.00		\$6,767,105.48
ITEM					TOTAL		TOTAL		TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
7025	Clear Plastic Covering	300	SY	\$1.85	\$555.00	\$2.00	\$600.00	\$3.00	\$900.00	\$1.00	\$300.00
7030	ESC Lead	300	HR	\$47.00	\$14,100.00	\$1.00	\$300.00	\$75.00	\$22,500.00	\$100.00	\$30,000.00
7055	Erosion/Water Pollution Control	1	FA	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
7060	Stormwater Tanker Truck	1	FA	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
7065	Baker Tank	1	FA	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
7070	Street Cleaning	1,000	HOUR	\$110.00	\$110,000.00	\$115.00	\$115,000.00	\$105.00	\$105,000.00	\$100.00	\$100,000.00
	SUB-TOTAL				\$284,180.00		\$273,765.00		\$290,585.00		\$288,075.00
	Sales Tax 9.5%				\$26,997.10		\$26,007.68		\$27,605.58		\$27,367.13
	TOTAL SCHEDULE VII				\$311,177.10		\$299,772.68		\$318,190.58		\$315,442.13
SCHEDUL	E VIII - ROADSIDE RESTORATION										
8005	Topsoil Type A	100	CY	\$50.00	\$5,000.00	\$30.00	\$3,000.00	\$40.00	\$4,000.00	\$50.00	\$5,000.00
8015	Bark or Wood Chip Mulch	25	CY	\$62.00	\$1,550.00	\$31.00	\$775.00	\$50.00	\$1,250.00	\$50.00	\$1,250.00
8020	Coarse Compost	25	CY	\$62.00	\$1,550.00	\$31.00	\$775.00	\$40.00	\$1,000.00	\$50.00	\$1,250.00
	SUB-TOTAL				\$8,100.00		\$4,550.00		\$6,250.00		\$7,500.00
	Sales Tax 9.5%				\$769.50		\$432.25		\$593.75		\$712.50
	TOTAL SCHEDULE VIII				\$8,869.50		\$4,982.25		\$6,843.75		\$8,212.50
SCHEDUL	E IX A - PLANT MITIGATION - 64TH AVE. DITCH										
10000A	Shore pine (Pinus contorta var. Contorta) (5 gal.)	29	EA	\$85.00	\$2,465.00	\$35.00	\$1,015.00	\$30.00	\$870.00	\$100.00	\$2,900.00
10005A	Bitter cherry (Prunus emarginata) (1 gal.)	30	EA	\$11.00	\$330.00	\$8.25	\$247.50	\$17.00	\$510.00	\$50.00	\$1,500.00
10010A	Beaked hazelnut (Corylus cornuta) (1 gal.)	47	EA	\$11.00	\$517.00	\$8.25	\$387.75	\$17.00	\$799.00	\$35.00	\$1,645.00
10015A*	Black hawthorn (Crataegus douglasii) (1 gal.)	47	EA	\$11.00	\$517.00	\$8.25	\$387.75	\$17.00	\$799.00	\$35.00	\$1,645.00
10045A	Snowberry (Symphoricarpos albus) (1 gal.)	47	EA	\$11.00	\$517.00	\$8.25	\$387.75	\$17.00	\$799.00	\$35.00	\$1,645.00
10050A	Nootka rose (Rosa nutkana) (1 gal.)	47	EA	\$11.00	\$517.00	\$8.25	\$387.75	\$17.00	\$799.00	\$40.00	\$1,880.00
10055A	Tall Oregon (Berberis aquifolium) (1 gal.)	47	EA	\$13.00	\$611.00	\$8.50	\$399.50	\$17.00	\$799.00	\$40.00	\$1,880.00
	SUB-TOTAL				\$5,474.00		\$3,213.00		\$5,375.00		\$13,095.00
	Sales Tax 9.5%				\$520.03		\$305.24		\$510.63		\$1,244.03
	TOTAL SCHEDULE IX A				\$5,994.03		\$3,518.24		\$5,885.63		\$14,339.03
SCHEDUL	E IX B - PLANT MITIGATION - DRAINAGE DISTRICT NO.1 DITCH										
10015B*	Black hawthorn (Crataegus douglasii) (1 gal.)	8	EA	\$11.00	\$88.00	\$8.25	\$66.00	\$17.00	\$136.00	\$35.00	\$280.00
10020B	Pacific ninebark (Physocarpus capitaetus) (1 gal.)	12	EA	\$12.00	\$144.00	\$8.25	\$99.00	\$17.00	\$204.00	\$40.00	\$480.00
	Black twinberry (Lonicera involucrata) (1 gal.)	12	EA	\$12.00	\$144.00	\$8.25	\$99.00	\$17.00	\$204.00	\$35.00	\$420.00
	Indian plum (Oemleria cerasiformis) (1 gal.)	8	EA	\$13.00	\$104.00	\$8.00	\$64.00	\$17.00	\$136.00	\$35.00	\$280.00
	Salmonberry (Rubus spectabilis) (1 gal.)	11	EA	\$13.00	\$143.00	\$8.00	\$88.00	\$17.00	\$187.00	\$35.00	\$385.00
10040B	Red-Osier dogwood (Cornus sericea) (1 gal.) SUB-TOTAL	10	EA	\$13.00	\$130.00 \$753.00	\$8.00	\$80.00 \$496.00	\$17.00	\$170.00 \$1,037.00	\$45.00	\$450.00 \$2,295.00
	Sales Tax 9.5% TOTAL SCHEDULE IX B				\$71.54 \$824.54		\$47.12 \$543.12		\$98.52		\$218.03 \$2,513.03
	TOTAL SCHEDULE IX D				⊅8∠4.54		⊅ 543.12		\$1,135.52		⊅∠,⊃13.U3

CITY OF KENT					5		6	7	8	
PROJECT NAME: S. 228	th Street Improvements	BIDDER'S	3	Northwest Cons	ruction, Inc.	Tri-State Constr	uction, Inc.	Titan Earthwork, LLC	Frank Coluccio Constr	uction Co.
BID OPENING: May 10,	2011	NAME AN	D	1408 140th Pl. N	IE, Suite 101	PO Box 3686		13806 16th St. E.	9600 MLK Jr. Way S.	
		ADDRESS	6	Bellevue, WA 9	3007	Bellevue, WA 98	8009-3686	Sumner, WA 98390	Seattle, WA 98118	
		TOTAL			\$5,663,549.47		\$5,698,118.30	\$5,948,795.00		\$6,767,105.48
ITEM					TOTAL		TOTAL	TOTA	_	TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE AMOUN	UNIT PRICE	AMOUNT
SUMMARY										
Total Schedule I A - Street	t				\$1,708,512.08		\$1,146,465.00	\$1,626,417.19		\$1,861,828.50
Total Schedule I B - Street	t - DWF Parking Lot and Driveway Reconstruction				\$37,011.22		\$25,185.00	\$32,466.75		\$53,381.25
Total Schedule II - Water					\$841,370.63		\$1,049,913.38	\$894,478.13		\$1,091,222.25
Total Schedule III A - City	of Seattle Leachate Sewer				\$29,680.52		\$32,189.72	\$32,028.75		\$47,512.05
Total Schedule III B - City	of Kent Sewer				\$138,221.85		\$144,052.73	\$128,969.10		\$238,107.75
Tolal Schedule IV - Storm	Sewer				\$2,244,131.33		\$2,705,964.00	\$2,512,888.13		\$2,765,641.50
Total Schedule V - Traffic	Control				\$252,675.19		\$198,808.20	\$306,600.00		\$283,824.00
Total Schedule VI - Electric	cal				\$85,081.50		\$86,724.00	\$82,891.50		\$85,081.50
Total Schedule VII - Temp	orary Erosion and Sedimentation Control				\$311,177.10		\$299,772.68	\$318,190.58		\$315,442.13
Total Schedule VIII - Land	Iscape Restoration				\$8,869.50		\$4,982.25	\$6,843.75		\$8,212.50
Total Schedule IX A - Plan	t Mitigation - 64th Ave. Ditch				\$5,994.03		\$3,518.24	\$5,885.63		\$14,339.03
Total Schedule IX B - Plan	t Mitigation - Drainage District No. 1 Ditch				\$824.54		\$543.12	\$1,135.52		\$2,513.03
CONSTRUCTION CONTR	ACT TOTAL				\$5,663,549.47		\$5,698,118.30	\$5,948,795.00		\$6,767,105.48

1005A Cleat 1007A Ren and 1010A* Ren 1015A Ren 1020A Ren 1025A Ren 1030A* Ren 1035A Ren 1045A Ren 1050A* Saw	DESCRIPTION A - STREET obilization earing and Grubbing	OTY	UNIT		\$7,154,730.00		
NO. SCHEDULE I A 1000A Mob 1005A Clea 1007A Ren and 1010A* Ren 1015A Ren 1020A Ren 1022A Ren 1025A Ren 1030A* Ren 1035A Ren 1045A Ren 1045A Ren 1050A* Saw	A - STREET obilization	QTY	UNIT				\$6,463,875.12
SCHEDULE I A 1000A Mob 1005A Clea 1007A Ren and 1010A* Ren 1015A Ren 1020A Ren 1022A Ren 1025A Ren 1030A* Ren 1035A Ren 1045A Ren 1045A Ren	A - STREET obilization	QTY	UNIT		TOTAL		TOTAL
1000A Mob 1005A Clea 1007A Ren and 1010A* Ren 1015A Ren 1020A Ren 1022A Ren 1025A Ren 1035A Ren 1035A Ren 1045A Ren 1050A* Saw	bilization			UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1000A Mob 1005A Clea 1007A Ren and 1010A* Ren 1015A Ren 1020A Ren 1022A Ren 1025A Ren 1035A Ren 1035A Ren 1045A Ren 1050A* Saw	bilization						
1005A Cleating Cleati		1	LS	\$600,848.50	\$600,848.50	\$590,000.00	\$590,000.00
1007A Ren and 1010A* Ren 1015A Ren 1020A Ren 1022A Ren 1035A Ren 1035A Ren 1045A Ren 1050A* Saw		1	LS	\$20,000.00	\$20,000.00	\$1,500.00	\$1,500.00
1015A Ren 1020A Ren 1022A Ren 1025A Ren 1030A* Ren 1035A Ren 1045A Ren 1050A* Saw	move and Dispose of Trees and Stumps for Trees 8 Inch Diameter d Above	3	EA	\$150.00	\$450.00	\$500.00	\$1,500.00
1020A Ren 1022A Ren 1025A Ren 1030A* Ren 1035A Ren 1045A Ren 1050A* Saw	move Existing Asphalt Concrete Pavement	7,500	SY	\$4.50	\$33,750.00	\$7.00	\$52,500.00
1022A Ren 1025A Ren 1030A* Ren 1035A Ren 1045A Ren 1050A* Saw	move Existing Cement Concrete Pavement	140	SY	\$5.50	\$770.00	\$12.50	\$1,750.00
1025A Ren 1030A* Ren 1035A Ren 1045A Ren 1050A* Saw	move Cement Concrete Sidewalk and Driveway	225	SY	\$4.50	\$1,012.50	\$12.00	\$2,700.00
1030A* Ren 1035A Ren 1045A Ren 1050A* Saw	move Cement Concrete Driveway at STA 15+87 LT	20	SY	\$13.00	\$260.00	\$15.00	\$300.00
1035A Ren 1045A Ren 1050A* Saw	move Cement Concrete Curb and Gutter	1,025	LF	\$9.00	\$9,225.00	\$7.50	\$7,687.50
1045A Ren 1050A* Saw	move Cement Concrete Extruded Curb	50	LF	\$3.00	\$150.00	\$2.50	\$125.00
1050A* Saw	moval of Traffic Islands and/or Traffic Curb	1	LS	\$4,000.00	\$4,000.00	\$2,000.00	\$2,000.00
	moval and Re-Install Traffic Signs	1	LS	\$11,000.00	\$11,000.00	\$500.00	\$500.00
1055A Saw	w Cut Existing Asphalt Concrete Pavement	17,600	LF	\$1.00	\$17,600.00	\$4.00	\$70,400.00
	w Cut Existing Cement Concrete Pavement	300	LF	\$3.50	\$1,050.00	\$6.50	\$1,950.00
1075A Gra	avel Borrow Including Haul and Compaction	3,000	TON	\$17.00	\$51,000.00	\$20.00	\$60,000.00
1080A Cru:	ushed Surfacing Top Course, 5/8 Inch Minus	2,000	TON	\$18.00	\$36,000.00	\$20.00	\$40,000.00
1085A* Crus	ushed Surfacing Base Course, 1-1/4 Inch Minus	2,500	TON	\$11.00	\$27,500.00	\$20.00	\$50,000.00
1090A HMA	MA Class 3/4", PG 64-22	4,000	TON	\$120.00	\$480,000.00	\$115.00	\$460,000.00
1125A* Cold	ld Plant Mix for Temporary Pavement Patch	1,000	TON	\$105.00	\$105,000.00	\$75.00	\$75,000.00
1140A Cen	ment Concrete Driveways 8 Inch Depth, Reinforced	100	SY	\$130.00	\$13,000.00	\$85.00	\$8,500.00
1143A Cen	ment Concrete Driveway, 8 Inch Depth, Reinforced at STA 15+87 LT	20	SY	\$140.00	\$2,800.00	\$90.00	\$1,800.00
1145A Cen	ment Concrete Sidewalk	125	SY	\$80.00	\$10,000.00	\$35.00	\$4,375.00
1205A Cen	ment Concrete Curb and Gutter	1,100	LF	\$23.00	\$25,300.00	\$20.00	\$22,000.00
1210A* Cen	ment Concrete Extruded Curb	50	LF	\$11.00	\$550.00	\$18.00	\$900.00
1245 Adjı	just Existing Monument, Case and Cover to Finished Grade	2	EA	\$120.00	\$240.00	\$400.00	\$800.00
1315A Poth	thole Utilities	15	EA	\$790.00	\$11,850.00	\$500.00	\$7,500.00
1330A Field	eld Trailer	1	LS	\$13,000.00	\$13,000.00	\$25,000.00	\$25,000.00
1345A Wat	atering	1,000	HR	\$84.00	\$84,000.00	\$105.00	\$105,000.00
1355A Min	nor Changes	1	CALC	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
1360A Exis	isting Irrigation System Removal, Repair and/or Modification	1	FA	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
1365A Con	ntrolled Density Fill	150	CY	\$95.00	\$14,250.00	\$135.00	\$20,250.00
SUE	JB-TOTAL				\$1,619,606.00		\$1,659,037.50
Sale	les Tax 9.5%				\$153,862.57	ĺ	\$157,608.56
тот	OTAL SCHEDULE I A				- · / O O E · O /		\$137,000.00

DESCRIPTION I B - STREET (DWF PARKING LOT AND DRIVEWAY RECONSTRUCT	BIDDER'S NAME AN ADDRESS TOTAL	D	James W. Fowler Co. 12775 Westview Dr. Dallas, OR 97338		Kelly Casteel	
DESCRIPTION I B - STREET (DWF PARKING LOT AND DRIVEWAY RECONSTRUCT	ADDRESS					
DESCRIPTION EIB-STREET (DWF PARKING LOT AND DRIVEWAY RECONSTRUCT		;	Dallas, OR 97338			
DESCRIPTION I B - STREET (DWF PARKING LOT AND DRIVEWAY RECONSTRUCT	TOTAL					
I B - STREET (DWF PARKING LOT AND DRIVEWAY RECONSTRUCT				\$7,154,730.00		\$6,463,875.12
I B - STREET (DWF PARKING LOT AND DRIVEWAY RECONSTRUCT				TOTAL		TOTAL
I B - STREET (DWF PARKING LOT AND DRIVEWAY RECONSTRUCT	QTY	UNIT	UNIT PRICE		UNIT PRICE	AMOUN ⁻
Remove Existing Asphalt Concrete Pavement	400	SY	\$4.50	\$1,800.00	\$7.00	\$2,800.00
Remove Cement Concrete Extruded Curb	1,000	LF	\$3.00	\$3,000.00	\$2.50	\$2,500.00
Remove Existing Concrete Walls, Pad and Chain Link Gate at Trash Enclosure	1	LS	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
Saw Cut Existing Asphalt Concrete Pavement	300	LF	\$1.00	\$300.00	\$4.00	\$1,200.00
Crushed Surfacing Base Course, 1-1/4 Inch Minus	100	TON	\$11.00	\$1,100.00	\$20.00	\$2,000.00
HMA Class 1/2", PG 64-22	100	TON	\$115.00	\$11,500.00	\$115.00	\$11,500.00
Cold Plant Mix for Temporary Pavement Patch	20	TON	\$105.00	\$2,100.00	\$75.00	\$1,500.00
Cement Concrete Extruded Curb	1,000	LF	\$11.00	\$11,000.00	\$18.00	\$18,000.00
Parking Lot Pavement Marking	1	LS	\$5,500.00	\$5,500.00	\$2,500.00	\$2,500.00
SUB-TOTAL				\$38,300.00		\$47,000.00
Sales Tax 9.5%						\$4,465.00
TOTAL SCHEDULE I B				\$41,938.50		\$51,465.00
II - WATER						
4 Inch Connection to Existing Water Main	2	EA	\$1,100.00	\$2,200.00	\$200.00	\$400.00
6 Inch Connection to Existing Water Main	1	EA	\$1,100.00	\$1,100.00	\$2,500.00	\$2,500.00
8 Inch Connection to Existing Water Main	9	EA	\$1,500.00	\$13,500.00	\$2,500.00	\$22,500.00
10 Inch Connection to Existing Water Main	8	EA	\$1,500.00	\$12,000.00	\$3,500.00	\$28,000.00
12 Inch Connection to Existing Water Main	12	EA	\$1,500.00	\$18,000.00	\$5,000.00	\$60,000.00
16 Inch Connection to Existing 16 Inch Concrete Cylinder Water Main	1	EA	\$5,900.00	\$5,900.00	\$10,000.00	\$10,000.00
16 Inch Connection to Existing Water Main	1	EA	\$1,500.00	\$1,500.00	\$10,000.00	\$10,000.00
4 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	100	LF	\$140.00	\$14,000.00	\$40.00	\$4,000.00
6 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	275	LF	\$85.00	\$23,375.00	\$55.00	\$15,125.00
8 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	350	LF	\$140.00	\$49,000.00	\$65.00	\$22,750.00
10 Inch Diameter Ductile Iron, Cl 52 Restrained Joint Pipe for Water	400	LF	\$130.00	\$52,000.00	\$75.00	\$30,000.00
Main 13 Inch Diameter Duetile Iron, CL53 Poetrained Joint Bine for Water	2 000	1.5	\$100.00	00,000	00 002	\$232,000.00
Main	2,700	Li	\$100.00	\$2,70,000.00	\$60.00	\$232,000.00
16 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main	100	LF	\$300.00	\$30,000.00	\$250.00	\$25,000.00
10 Inch Diameter Steel Casing Pipe	20	LF	\$55.00	\$1,100.00	\$50.00	\$1,000.00
14 Inch Diameter Steel Casing Pipe	50	LF	\$55.00	\$2,750.00	\$60.00	\$3,000.00
16 Inch Diameter Steel Casing Pipe	20	LF	\$80.00	\$1,600.00	\$70.00	\$1,400.00
5 1	20	LF	\$110.00	\$2,200.00	\$100.00	\$2,000.00
6 Inch Gate Valve MJ x FL or MJ x MJ or FL x FL	1	EA	\$900.00	\$900.00	\$900.00	\$900.00
						\$3,600.00
·		EA	\$1,900.00		\$1,700.00	\$8,500.00
						\$26,000.00
						\$6,000.00
						\$28,000.00 \$3,000.00
	HMA Class 1/2", PG 64-22 Cold Plant Mix for Temporary Pavement Patch Cement Concrete Extruded Curb Parking Lot Pavement Marking SUB-TOTAL Sales Tax 9.5% TOTAL SCHEDULE I B E II - WATER 4 Inch Connection to Existing Water Main 6 Inch Connection to Existing Water Main 10 Inch Connection to Existing Water Main 11 Inch Connection to Existing Water Main 12 Inch Connection to Existing Water Main 13 Inch Connection to Existing Water Main 14 Inch Connection to Existing Water Main 15 Inch Connection to Existing Water Main 16 Inch Connection to Existing Water Main 16 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 16 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 18 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 10 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 11 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 12 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 15 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 16 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 16 Inch Diameter Steel Casing Pipe 16 Inch Diameter Steel Casing Pipe 17 Inch Diameter Steel Casing Pipe 18 Inch Diameter Steel Casing Pipe 19 Inch Diameter Steel Casing Pipe	HMA Class 1/2", PG 64-22 Cold Plant Mix for Temporary Pavement Patch Cement Concrete Extruded Curb Parking Lot Pavement Marking SUB-TOTAL Sales Tax 9.5% TOTAL SCHEDULE I B EII - WATER 4 Inch Connection to Existing Water Main 1 Inch Inch Connection to Existing Water Main 1 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 1 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 1 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 1 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 1 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 1 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 1 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 1 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 1 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 1 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 1 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 2 Inch Diameter Steel Casing Pipe 2 Inch Diameter Steel Casing Pipe 3 Inch Diameter Steel Casing Pipe 4 Inch Diameter Steel Casing Pipe 5 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 8 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 1 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 1 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 1 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 1 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 1 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL	HMA Class 1/2", PG 64-22 Cold Plant Mix for Temporary Pavement Patch Cement Concrete Extruded Curb Parking Lot Pavement Marking SUB-TOTAL Sales Tax 9.5% TOTAL SCHEDULE I B EII - WATER 4 Inch Connection to Existing Water Main 6 Inch Connection to Existing Water Main 11 EA 8 Inch Connection to Existing Water Main 12 Inch Connection to Existing Water Main 13 Inch Connection to Existing Water Main 14 Inch Connection to Existing Water Main 15 Inch Connection to Existing Water Main 16 Inch Connection to Existing Water Main 17 Inch Connection to Existing Water Main 18 Inch Connection to Existing Water Main 19 Inch Connection to Existing Water Main 10 Inch Connection to Existing Water Main 11 EA 16 Inch Connection to Existing Water Main 11 EA 16 Inch Connection to Existing Water Main 11 EA 16 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 10 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 10 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 10 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 16 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 16 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 16 Inch Diameter Ductile Iron, CI 52 Restrained Joint Pipe for Water Main 16 Inch Diameter Steel Casing Pipe 17 Inch Diameter Steel Casing Pipe 18 Inch Diameter Steel Casing Pipe 19 Inch Diameter Steel Casing Pipe 20 Inch Inch Diameter Steel Casing Pipe 21 Inch Diameter Steel Casing Pipe 22 Inch Diameter Steel Casing Pipe 23 Inch Diameter Steel Casing Pipe 24 Inch Diameter Steel Casing Pipe 25 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 26 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 27 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 38 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 49 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 40 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 40 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 40 Inch Gate Valve, MJ x FL or MJ x MJ or FL x FL 40 Inch Gate V	HMA Class 1/2", PG 64-22	HMA Class 1/2", PG 64-22	HMA Class 1/2", PG 64-22

CITY OF	CFNT			9		ENGINEER'S ESTIM	ATF
	NAME: S. 228th Street Improvements	BIDDER'S		James W. Fowler Co.		Kelly Casteel	
	NING: May 10, 2011	NAME ANI		12775 Westview Dr.			
	•	ADDRESS		Dallas, OR 97338			
		TOTAL			\$7,154,730.00		\$6,463,875.12
ITEM					TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE		UNIT PRICE	AMOUNT
2090	2 Inch Air Release Valve with Chamber	2	EA	\$7,500.00	\$15,000.00	\$6,000.00	\$12,000.00
2092	Remove Existing Air Release Chamber and Vault, Complete	1	EA	\$2,100.00	\$2,100.00	\$1,200.00	\$1,200.00
2105	Abandon Existing Water Service	17	EA	\$700.00	\$11,900.00	\$250.00	\$4,250.00
2110	Abandon Existing Water Main	1	LS	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00
2125	Service Connection 2 Inch Diameter	17	EA	\$370.00	\$6,290.00	\$1,400.00	\$23,800.00
2155	Water Service Line 2 Inch Diameter	700	LF	\$28.00	\$19,600.00	\$20.00	\$14,000.00
2215	2 Inch Meter Setter	17	EA	\$1,000.00	\$17,000.00	\$1,200.00	\$20,400.00
2225	Meter Box for 1-1/2 Up to 2 Inch Diameter Service	17	EA	\$1,000.00	\$17,000.00	\$500.00	\$8,500.00
2250	Adjusting Water Main	600	LF	\$50.00	\$30,000.00	\$125.00	\$75,000.00
2255*	Shoring or Extra Excavation Class B	27,000	SF	\$0.50	\$13,500.00	\$0.50	\$13,500.00
2260*	Foundation Material, Class I and II	600	TON	\$30.00	\$18,000.00	\$20.00	\$12,000.00
2275*	Pipe Zone Bedding	700	TON	\$11.00	\$7,700.00	\$20.00	\$14,000.00
2285*	Bank Run Gravel for Trench Backfill	7,900	TON	\$13.00	\$102,700.00	\$15.00	\$118,500.00
2315	Remove Existing 24 Inch Diameter Clay Pipe	1	LS	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00
2320	Remove Existing Water Meter Box	17	EA	\$115.00	\$1,955.00	\$125.00	\$2,125.00
2325	Remove Existing Water Valve	5	EA	\$475.00	\$2,375.00	\$125.00	\$625.00
2335	Remove Existing Fire Hydrant Assembly	5	EA	\$500.00	\$2,500.00	\$900.00	\$4,500.00
2340	Repair Existing 8 Inch Check Valve in Existing Fire Vault on Private Property	1	LS	\$1,200.00	\$1,200.00	\$5,000.00	\$5,000.00
2345	Lower Existing Private Fire Line at DWF	1	LS	\$5,300.00	\$5,300.00	\$5,000.00	\$5,000.00
	SUB-TOTAL			, , , , , , , , ,	\$901,245.00	, , , , , , , , , , , , , , , , , , , ,	\$890,075.00
	Sales Tax 9.5%				\$85,618.28		\$84,557.13
	TOTAL SCHEDULE II				\$986,863.28		\$974,632.13
SCHEDUL	E III A - CITY OF SEATTLE LEACHATE SEWER						
3010A	8 Inch Diameter Ductile Iron, CI 50 Sewer Pipe	50	LF	\$105.00	\$5,250.00	\$80.00	\$4,000.00
3060A	City of Seattle Maintenance Hole Type 204a 48 Inch Diameter	2	EA	\$5,000.00	\$10,000.00	\$7,000.00	\$14,000.00
3085A	Locking Manhole Frame and Cover	2	EA	\$260.00	\$520.00	\$375.00	\$750.00
3112A	Removal and Disposal of Existing Sanitary Sewer System, Complete	1	LS	\$400.00	\$400.00	\$20,000.00	\$20,000.00
2115 / *	Shoring or Extra Excavation Class B	900	SF	\$0.50	\$450.00	\$0.50	¢450.00
3115A* 3118A*	Permeable Ballast	40	TON	\$30.00	\$1,200.00	\$20.00	\$450.00 \$800.00
3116A 3120A*	Foundation Material, Class I and II	20	TON	\$30.00	\$600.00	\$20.00	\$400.00
3120A 3135A*	Pipe Zone Bedding	30	TON	\$11.00	\$330.00	\$20.00	\$600.00
3140A*	Geotextile Fabric, Non-Woven	40	SY	\$2.50	\$100.00	\$20.00	\$100.00
3145A*	Bank Run Gravel for Trench Backfill	400	TON	\$13.00	\$5,200.00	\$2.50 \$15.00	\$6,000.00
3145A 3160A	Television Inspection with Audio Assessment	400	LS	\$300.00	\$3,200.00	\$3,000.00	\$3,000.00
3185A	Temporary Sewage Bypass System	1	LS	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00
3103A	SUB-TOTAL	'	LJ	\$10,000.00	\$34,350.00	\$12,000.00	\$62,100.00
	Sales Tax 9.5%				\$34,350.00		\$5,899.50
	TOTAL SCHEDULE III A				\$37,613.25		\$67,999.50
1	TOTAL SOILDULL III A				φ31,013. 2 3		φυ <i>ι</i> ,777.30

CITY OF	KENT] 9		ENGINEER'S ESTIMA	\TF
	NAME: S. 228th Street Improvements	BIDDER'S	5	James W. Fowler Co.		Kelly Casteel	112
	NING: May 10, 2011	NAME AN		12775 Westview Dr.		nony educati	
DID 01 L	1110. May 10, 2011	ADDRESS		Dallas, OR 97338			
		7.0011200		Banas, ore 77000			
		TOTAL			\$7,154,730.00		\$6,463,875.12
ITEM					TOTAL	-	TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
SCHEDUL	E III B - CITY OF KENT SEWER						
3005B	PVC Sewer Pipe, 8 Inch Diameter	150	LF	\$145.00	\$21,750.00	\$65.00	\$9,750.00
3015B	PVC Sewer Pipe, 10 Inch Diameter	335	LF	\$75.00	\$25,125.00	\$75.00	\$25,125.00
3035B	PVC Side Sewer Pipe, 6 Inch Diameter	80	LF	\$110.00	\$8,800.00	\$30.00	\$2,400.00
3038B*	14 Inch Diameter Steel Casing	100	LF	\$68.00	\$6,800.00	\$60.00	\$6,000.00
3060B	Manhole 12 Feet to 20 Feet, Type 2 48 Inch Diameter	2	EA	\$4,500.00	\$9,000.00	\$7,000.00	\$14,000.00
3112B	Removal and Disposal of Existing Sanitary Sewer System, Complete	1	LS	\$1,200.00	\$1,200.00	\$20,000.00	\$20,000.00
3115B*	Shoring or Extra Excavation Class B	6,500	SF	\$0.50	\$3,250.00	\$0.50	\$3,250.00
3120B*	Foundation Material, Class I and II	80	TON	\$30.00	\$2,400.00	\$20.00	\$1,600.00
3135B*	Pipe Zone Bedding	100	TON	\$11.00	\$1,100.00	\$20.00	\$2,000.00
3140B*	Geotextile Fabric, Non-Woven	250	SY	\$2.50	\$625.00	\$2.50	\$625.00
3145B*	Bank Run Gravel for Trench Backfill	2,800	TON	\$13.00	\$36,400.00	\$15.00	\$42,000.00
3187B	Temporary Sewage Bypass System	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
3190B	METRO Sewer Manhole Connection	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
	SUB-TOTAL				\$146,450.00		\$156,750.00
	Sales Tax 9.5%				\$13,912.75		\$14,891.25
	TOTAL SCHEDULE III B				\$160,362.75		\$171,641.25
SCHEDUL	.E IV - STORM SEWER						
4015	Ductile Iron Storm Sewer Pipe, 12 Inch Diameter	400	LF	\$120.00	\$48,000.00	\$55.00	\$22,000.00
4025	Ductile Iron Storm Sewer Pipe, 18 Inch Diameter	175	LF	\$150.00	\$26,250.00	\$75.00	\$13,125.00
4063	72 Inch Diameter RCP, CI IV Storm Sewer Pipe	3,200	LF	\$670.00	\$2,144,000.00	\$525.00	\$1,680,000.00
4064	72 Inch Diameter RCP, CI IV 1/8 Bend for Single Mitre	1	EA	\$27,000.00	\$27,000.00	\$550.00	\$550.00
4080	Catch Basin, Type I	2	EA	\$1,000.00	\$2,000.00	\$1,100.00	\$2,200.00
4087	Remove and Reinstall Existing Flow Control Restrictor	1	LS	\$1,400.00	\$1,400.00	\$5,500.00	\$5,500.00
4100	Catch Basin, Type 2 48 Inch Diameter for Flow Control Restrictor	1	EA	\$2,700.00	\$2,700.00	\$10,000.00	\$10,000.00
4101	Manhole, Type 2 108 Inch Diameter (Including Installation)	2	EA	\$14,400.00	\$28,800.00	\$12,000.00	\$24,000.00
4102	Manhole, Type 2 108 Inch Diameter (Structure Only)	2	EA	\$7,100.00	\$14,200.00	\$7,000.00	\$14,000.00
4103	Manhole, Type 2 120 Inch Diameter	2	EA	\$23,000.00	\$46,000.00	\$15,000.00	\$30,000.00
4108	Tee-Top Manhole, 48 Inch Diameter	7	EA	\$5,000.00	\$35,000.00	\$3,500.00	\$24,500.00
4110	Round Solid Locking Catch Basin Frame and Cover	11	EA	\$200.00	\$2,200.00	\$300.00	\$3,300.00
4113	Solid Locking 36 Inch by 4 Inch Reversible Frame and Grate	4	EA	\$500.00	\$2,000.00	\$400.00	\$1,600.00
4120	Vaned Catch Basin Frame and Grate	7	EA	\$200.00	\$1,400.00	\$350.00	\$2,450.00
4130	Abandon Existing Storm Sewer Pipe	14	EA	\$325.00	\$4,550.00	\$350.00	\$4,900.00
4135	Remove Existing Storm Sewer Pipe or Culvert	1,000	LF	\$16.00	\$16,000.00	\$5.00	\$5,000.00
4145	Remove Existing Catch Basin or Manhole	4	EA	\$1,000.00	\$4,000.00	\$450.00	\$1,800.00
4147	Remove Existing Flow Control Structure, Type 2 48 Inch Diameter	1	LS	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00
4150*	Shoring or Extra Excavation Class B	40,000	SF	\$0.50	\$20,000.00	\$0.50	\$20,000.00
4153*	Permeable Ballast	6,000	TON	\$30.00	\$180,000.00	\$20.00	\$120,000.00
4155*	Foundation Material, Class I and II	50	TON	\$30.00	\$1,500.00		\$1,000.00
4160	Light Loose Riprap	100	TON	\$30.00	\$3,000.00	\$35.00	\$3,500.00
	•				\$10,000.00		\$10,000.00

CITY OF KENT				9		ENGINEER'S ESTIMATE			
PROJECT	NAME: S. 228th Street Improvements	BIDDER'S	;	James W. Fowler Co).	Kelly Casteel			
BID OPE	NING: May 10, 2011	NAME AN	D	12775 Westview Dr					
		ADDRESS		Dallas, OR 97338					
ITEM		TOTAL			\$7,154,730.00		\$6,463,875.12		
ITEM NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL	UNIT PRICE	TOTAI AMOUN		
4165	Quarry Spalls	100	TON	\$17.00	\$1,700.00	\$40.00	\$4,000.00		
4170*	Pipe Zone Bedding	9,000	TON	\$17.00	\$99,000.00	\$20.00	\$180,000.00		
4180*	Bank Run Gravel for Trench Backfill	16,000	TON	\$13.00	\$208,000.00	\$15.00	\$240,000.00		
4210	Thermoplastic Storm Drain Stenciling	5	EA	\$300.00	\$1,500.00	\$75.00	\$375.00		
4220	Temporary Storm Drainage Bypass System	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00		
4225	Inlet Structure	1	LS	\$60,000.00	\$60,000.00	\$25,000.00	\$25,000.00		
4230	Outlet Structure	1	LS	\$48,000.00	\$48,000.00	\$25,000.00	\$25,000.00		
4235	78 Inch Diameter Restrictor Plate with 8 Inch Orifice	1	LS	\$7,600.00	\$7,600.00	\$3,500.00	\$3,500.00		
4240	Detention Pond Block Wall Removal and Replacement	1	LS	\$8,500.00	\$8,500.00	\$20,000.00	\$20,000.00		
	SUB-TOTAL .				\$3,068,300.00		\$2,509,800.00		
	Sales Tax 9.5%				\$291,488.50		\$238,431.00		
	TOTAL SCHEDULE IV				\$3,359,788.50		\$2,748,231.00		
	LE V - TRAFFIC CONTROL								
5005	Traffic Control Labor	2,500	HR	\$55.00	\$137,500.00	\$40.00	\$100,000.00		
5010	Construction Signs Class A	1,000	SF	\$22.00	\$22,000.00	\$15.00	\$15,000.00		
5015	Traffic Control Supervisor	800	HR	\$80.00	\$64,000.00	\$45.00	\$36,000.00		
5020 5030	Temporary Traffic Control Devices Portable Changeable Message Sign (PCMS) (4 Fach Per Pay)	1 90	LS DAY	\$11,000.00 \$290.00	\$11,000.00	\$10,000.00 \$250.00	\$10,000.00		
	Portable Changeable Message Sign (PCMS) (4 Each Per Day)				\$26,100.00		\$22,500.00		
5035 5040	Sequential Arrow Sign (SAS) (3 Each Per Day) Traffic Safty Drum	200 160	DAY EA	\$53.00	\$10,600.00	\$140.00	\$28,000.00		
5060	Type III Barricade	160	EA	\$56.00 \$300.00	\$8,960.00 \$4,800.00	\$95.00 \$400.00	\$15,200.00 \$6,400.00		
5075	Permanent Channelization	10	LS	\$22,000.00	\$22,000.00	\$10,000.00	\$10,000.00		
5135	Permanent Signing	1	LS	\$20,000.00	\$20,000.00	\$5,500.00	\$5,500.00		
0100	SUB-TOTAL		LO	Ψ20,000.00	\$326,960.00	\$3,300.00	\$248,600.00		
	Sales Tax 9.5%				\$31,061.20		\$23,617.00		
	TOTAL SCHEDULE V				\$358,021.20		\$272,217.00		
CHEDIII	LE VI - ELECTRICAL								
6005	Illumination System	1	LS	\$5,600.00	\$5,600.00	\$10,000.00	\$10,000.00		
6020	Utility Conduit Crossings	1	FA	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00		
6025	Traffic Signal Wiring	600	LF	\$19.00	\$11,400.00	\$8.00	\$4,800.00		
6070	Video Detection System, Complete, Including Installation	4	EA	\$10,800.00	\$43,200.00	\$4,500.00	\$18,000.00		
6075	Video Detection System Installation Only	1	EA	\$1,900.00	\$1,900.00	\$2,000.00	\$2,000.00		
	SUB-TOTAL				\$82,100.00		\$54,800.00		
	Sales Tax 9.5%				\$7,799.50		\$5,206.00		
	TOTAL SCHEDULE VI				\$89,899.50		\$60,006.00		
	LE VII - EROSION AND SEDIMENT CONTROL	4.0		ΦΕ 222 25	#F 000 55	#2 222 2 -	#0.000.55		
7000	Seeding, Fertilizing, and Mulching	1.0	AC	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00		
7005	Filter Fabric Fence	500	LF	\$4.00	\$2,000.00	\$7.00	\$3,500.00		
7010 7015	10 Foot Straw Wattles for Drainage Way Barrier	18	EA	\$36.00	\$648.00	\$65.00 \$135.00	\$1,170.00 \$2,125.00		
7015 7020	Inlet Protection Straw Mulch	25 650	EA SY	\$85.00 \$0.50	\$2,125.00 \$325.00	\$125.00 \$3.50	\$3,125.00 \$2,275.00		
7020	Straw Mulch	030	31	\$0.50	\$323.00	\$3.50	\$2,275.00		

	CENT NAME: S. 228th Street Improvements IING: May 10, 2011	BIDDER'S NAME AN ADDRESS	ID	9 James W. Fowler Co. 12775 Westview Dr. Dallas, OR 97338		ENGINEER'S ESTIMA' Kelly Casteel	TE
		TOTAL			\$7,154,730.00		\$6,463,875.12
ITEM					TOTAL		TOTAL
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
7025	Clear Plastic Covering	300	SY	\$2.00	\$600.00	\$1.50	\$450.00
7030	ESC Lead	300	HR	\$61.00	\$18,300.00	\$30.00	\$9,000.00
7055	Erosion/Water Pollution Control	1	FA	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
7060	Stormwater Tanker Truck	1	FA	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
7065	Baker Tank	1	FA	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
7070	Street Cleaning	1,000	HOUR	\$125.00	\$125,000.00	\$90.00	\$90,000.00
	SUB-TOTAL				\$303,998.00		\$262,520.00
	Sales Tax 9.5%				\$28,879.81		\$24,939.40
	TOTAL SCHEDULE VII				\$332,877.81		\$287,459.40
SCHEDUL	E VIII - ROADSIDE RESTORATION						
8005	Topsoil Type A	100	CY	\$44.00	\$4,400.00	\$40.00	\$4,000.00
8015	Bark or Wood Chip Mulch	25	CY	\$45.00	\$1,125.00	\$35.00	\$875.00
8020	Coarse Compost	25	CY	\$45.00	\$1,125.00	\$35.00	\$875.00
	SUB-TOTAL				\$6,650.00		\$5,750.00
	Sales Tax 9.5%				\$631.75		\$546.25
	TOTAL SCHEDULE VIII				\$7,281.75		\$6,296.25
SCHEDUL	E IX A - PLANT MITIGATION - 64TH AVE. DITCH						
10000A	Shore pine (Pinus contorta var. Contorta) (5 gal.)	29	EA	\$68.00	\$1,972.00	\$36.00	\$1,044.00
10005A	Bitter cherry (Prunus emarginata) (1 gal.)	30	EA	\$12.00	\$360.00	\$36.00	\$1,080.00
10010A	Beaked hazelnut (Corylus cornuta) (1 gal.)	47	EA	\$12.00	\$564.00	\$27.00	\$1,269.00
10015A*	Black hawthorn (Crataegus douglasii) (1 gal.)	47	EA	\$12.00	\$564.00	\$27.00	\$1,269.00
10045A	Snowberry (Symphoricarpos albus) (1 gal.)	47	EA	\$12.00	\$564.00	\$4.50	\$211.50
10050A	Nootka rose (Rosa nutkana) (1 gal.)	47	EA	\$12.00	\$564.00	\$3.90	\$183.30
10055A	Tall Oregon (Berberis aquifolium) (1 gal.)	47	EA	\$14.00	\$658.00	\$15.00	\$705.00
	SUB-TOTAL				\$5,246.00		\$5,761.80
	Sales Tax 9.5%				\$498.37		\$547.37
	TOTAL SCHEDULE IX A				\$5,744.37		\$6,309.17
SCHEDUL	E IX B - PLANT MITIGATION - DRAINAGE DISTRICT NO.1 DITCH						
10015B*	Black hawthorn (Crataegus douglasii) (1 gal.)	8	EA	\$12.00	\$96.00	\$27.00	\$216.00
	Pacific ninebark (Physocarpus capitaetus) (1 gal.)	12	EA	\$13.00	\$156.00	\$15.00	\$180.00
10025B	Black twinberry (Lonicera involucrata) (1 gal.)	12	EA	\$13.00	\$156.00	\$15.00	\$180.00
10030B	Indian plum (Oemleria cerasiformis) (1 gal.)	8	EA	\$13.00	\$104.00	\$15.00	\$120.00
10035B	Salmonberry (Rubus spectabilis) (1 gal.)	11	EA	\$13.00	\$143.00	\$15.00	\$165.00
10040B	Red-Osier dogwood (Cornus sericea) (1 gal.)	10	EA	\$14.00	\$140.00	\$2.70	\$27.00
	SUB-TOTAL				\$795.00		\$888.00
	Sales Tax 9.5%				\$75.53		\$84.36
	TOTAL SCHEDULE IX B				\$870.53		\$972.36
l				Ī		1	

CITY OF KENT PROJECT NAME: S. 228th Street Improvements BID OPENING: May 10, 2011		BIDDER'S NAME AN ADDRESS	D	9 James W. Fowler Co 12775 Westview Dr Dallas, OR 97338		ENGINEER'S ESTIMATE Kelly Casteel		
		TOTAL			\$7,154,730.00	\$6,	463,875.12	
ITEM					TOTAL		TOTAL	
NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
SUMMARY								
Total Schedule I A - Stree	et				\$1,773,468.57	\$1,	816,646.06	
Total Schedule I B - Stree	et - DWF Parking Lot and Driveway Reconstruction				\$41,938.50		\$51,465.00	
Total Schedule II - Water					\$986,863.28	\$	974,632.13	
Total Schedule III A - City	y of Seattle Leachate Sewer				\$37,613.25		\$67,999.50	
Total Schedule III B - City	y of Kent Sewer				\$160,362.75	\$	171,641.25	
Tolal Schedule IV - Storm	Sewer				\$3,359,788.50	\$2,	748,231.00	
Total Schedule V - Traffic	Control				\$358,021.20	\$	272,217.00	
Total Schedule VI - Electr	ical				\$89,899.50		\$60,006.00	
Total Schedule VII - Temp	porary Erosion and Sedimentation Control				\$332,877.81	\$	287,459.40	
Total Schedule VIII - Land	dscape Restoration				\$7,281.75		\$6,296.25	
Total Schedule IX A - Plan	nt Mitigation - 64th Ave. Ditch				\$5,744.37		\$6,309.17	
Total Schedule IX B - Plar	nt Mitigation - Drainage District No. 1 Ditch				\$870.53		\$972.36	
CONSTRUCTION CONTR	RACT TOTAL				\$7,154,730.00	\$6,4	63,875.12	